R 4
e

BESE - REBR

A STRONGHOLD BY PRECISION AND POWER.

AUTE






A STRONGHOLD BY PRECISION AND POWER.

AUTO

onG

Sir

12§
i BR T

CONTENTS




Sironc

HEEIREEE T

Soft jaw for hydraulic power
chuck.

HC40-1
ABPEHEREEMN

Soft jaw for hydraulic power
chuck.

H140 e
ABIh E i ERBEERRE T

Hard jaw for hydraulic power
chuck.

% L]

H)
HEE IR ERRE T

Hard jaw for hydraulic power
chuck.

«“5 #
) P)
7 N
ADAPTER
IR

Mounting adapter on short

taper spindle noses DIN55026.

an
£

T-UNTS
TEE

Suitable for power chuck.

F52
SRR e P ER

High speed and light weight

fype strong finger chuck
for aluminum wheel.

P64 L
<P
2 . i
762X
Fé61
frmERER

High speed and light weight
type strong finger chuck
for aluminum wheel.

g

P65

F66
SamE %EE

High speed and light weight

type strong finger chuck for
aluminum wheel.

NL-A (s
= MRt A

3-jaw long stroke through-hole
power chuck.(adapter included)

l'}\-\
Ay
BL "“j;'

= MR HEE

3-jaw ball swing lock chuck.

P68
) $ ’
&
a:aj\) 4
DR P
=R HKEE

3-jaw draw down power chuck.

P165
FENRE3EEE

Floating plate center chuck.

P70

HN =zsn)
=M EPzmENRE

3-jaw extra high speed through-hole
power chuck.(adapter included)

SB-ES
mEETVEN D 3EER

Pneumatic power chuck.

P72

PB-ES
B HRE

Pneumatic power chuck.

B EBNFEORE—E) -
EiRAE « gl UARE - ZUMR 5 SLEAE « HHERESR

M+ GIEEREF "REE—  BTEL BEXE BEREEK. 0%
i SLERIEHE T‘¢'/J\u—.¥ NEUT IR ML AR AR TR EEE - TER
IEAEE  WHZRASEEIELEEGEEMKE -

E1992E BB ARKYE  BI7EHE S "TAUTO STRONG | @ EVE B A1E THE
FEAE AT B G ERNERYHRE RERMAE - B HE  BAOMEA
i MEEE  SHEFEEKETIRES  BRENAEEESERMONES -

SR BINTRBRERENREER - Bl T ATIEE FEEE  EKE

ft o~ REBS - ERRE  [BRSH FHAKREER 0 BERF)IERZIR - EH
REBALE -

EENROBFNELEBRERMNES » MFE)INKERRAKE ETE
FE— DR TIEEPF - HMIREF TIBME)I - B ET, BT > EERIIFEFEN
TR WEBERIR  EAAEBFH  FHBEME LT ¥R .
Bs s TADE /J~IJJ$7J  BIEOA|EEMZIEATNSEY REALH
EEMS ﬁﬁﬂiﬁ? I:UE_,?EJ._J E’JH‘1:|:|:||:|§

EBRMOIEER > MEH "UABE WEEXL  AEERREECENEER

M EREE - LRELE  RERE BoHA  moERBZKE PR

1T] RIS 2E - HhEiaglE - EA RSB EREES  BE3EEF - 1
REARIBRAEE MR E

SRR LEEH - BSEN -




Sironc

1970 1974 REPIREERMIIKBHEMRE - BREEZTRE -
1976 SREIBEATFESERBHEE ZTREREEEL -
1977 SEMIH)IEIARGAERAR @ EAEXEIEMES H ik

E)IIAS BRRFESE 1@%[175 E}ﬁ I o PRI AR EEREEERT - IR E IS R o
REB—THEFEFEHES  MTRERABAMETE @ S ERTIFEERA - 1978 MEACNCERERGAIEIGROE  SEZEBEIL
B TE2ERSHEER » BELUGEEMEERREZEC 1980 1980 HAANBMREHAE  HIBEARKTS -

1
RSES L X P8 B S AYHERR © 1982 HARAEEBIBRER  WMALEEL -
ERNREHER—EEHONY - 1984 2HAEXEAMATRIBIEE -
1987 EABFFHEIEIRIET 2 BEMHIZEL S A CNCE R AR
1988 M THIBHMATEREECNCERATEHE= TS « 1255
BHERELRL) -

1990 1991 éééémcst%%mi%ﬁﬁﬁﬁa’saﬂfj

1992 BAZE EAEENAEMAITE  LERESHRK  EEH
B%%Eé)j{tt%ﬁmtﬁ °

1993 FRUBIFREIARREILRINERERERINER o #HENREEEE o
= TR ARE 2 EFR A KBRS IEAE o

1995 AEEUNEFRRECEMARKEIEEE - ARBEXNERARE)I#HT
FRRR A BBRAR @ AR MR ETER D RE o

1996 EiBISO-90025F{RHIEDE -

1997 HEEM2511(15") SREEHEE - MSEIRE R E I B HEEH
[ERET - MSCEUFR T i % & Bl iyt 5 B SE B8 R T - CT42BU4E %
[EEEER

1998 HE5V218FREHERRREE o

1999 HMHEEV224hEMERIREE o

2000 2000 HHzsEHERE -

2001 HEEMMO0933 + MM1033FZE5EEHERET o

2002 6ANR—EEMEIEEHNO6K —E I HETIHG296 ©
9H3EiBIS0-9001 % & R HIE T -

2003 HfEEHB4ENE]N  P1652E0EET + N204 « NBRFIEEA A 1L3EEE o

2004 ERKE @ HIEEDRRFIE A IREREBLRIIFENFE IR o

2005 H3EF52 12"~18"EHEI5EE o

2006 Ff3EF61 13"~22", F66 17"~24"iHE5%5E -

2007 HiEEV240(1000mm)fiEEEY HERSRER K MS250CHR B SE B MR o

2008 HEEV250(1250mm)REJHENIE K VE263(1600mm)iZE A
FEABINEATEEE o

2009 HIEEML-2816BAFL S EEERERET

2070 2010 EML-3320BAFLEEEHERT -
2011 HBEVE 279(2000mm) e HE 55 & MS300CH 3 EEE hEE]
2012 HfEEPB-ES600-2755= /B EN ) HEEE K MR250F B 852 B E &5

B4 -
2013 FigPB-ES850-375REA B SEa R EME N E EHA
B -

2014 HFEEVE 298(2500mm)3z B ABIHEEE o
2015 HEEV3RRTI(V312R~V332R)IZEFRAIKIZEE ©
2016 HEENLZEI(NL-06 ~ NL-08 * NL-10)#BR1TF255E o




AUTO

- N _ _
strona A STRONGHOLD BY PRECISION AND POWER.

WEABHIARAERERATE - TEREEERE) EEREFE - €/IIERBIHE
o ERERTENERER - TREREL  EEXNERIL  REEEL, X
ROEERSZARE) - AHFANET  STERN - BRI EEE -



Sironc

LhEHREN - B - SEEBERERE - HE
B o

REERE  BE - BWaETOREST - R
BREHEKE  RERE -

EHREL - 5EE - BREFN - KEBHS -
BRIESE - BEIMMA -

RIRE ~ |iTR-

Y

BENNE  EBEENRETE BT EBRERRNEIES T - thEEEUNL
FIREHEM L IR ERTE " CE, Z50E ' RESECEEBHIS0-90018971E o
TEBTESAZ X T EERREBIMPACT= X T 8REREFE  BIHERE
MmEREEXR  REHEFERSHAKEES -



“HHFINS K EREBLEE RN I(0OEM « ODM)E 3 & & k% (0BM) 2 A EY
B RIIBRET REBBEREOREKME - "AUTO STRONG ; fEEHKERIF
W3 BB EERCRIB R ML » R+ FRESE - B)IESREHBEARER - H
BRRIH3EREER - BEREIAT70% MR AR @ ZBERFHTF - BLMER/)IE8E
BT EF—i BARERIRH

£ TER, —FARKELEZR  BEHT RESENERIE  S26)IEH
HRAYERE - 19955F » HEBUNHLRFE "CE, FRBRHEBEASFRNETE
FRERMARERONT % - EREIIEH MM TR - REBSEROMIEED
ERENRIHRES KX B & PR =B e - BRAE - BF -
B - &E - ST FEE RE 7RI ERF DR -

BEREEENEKRSE - LKA REER.  B)IREREREERNS
EEETENEHMER  RREM  EEERANSENMBLE BRENS

Roomh o EMAGEREERE BREIET K - BRBAE -
FILEEBRRIERES  BIIKATIRE  RESENREZE » HERAH
iR - BIER{EE - ST EEBEIRRR  BIAGE - R ERIR MRS
B2 HREZOH -

B alEEE - 51558 -

A STRONGHOLD BY PRECISION AND POWER.




AUTO

A STRONGHOLD BY PRECISION AND POWER.

Sirong

o =
R 1%

SC-3
SC-4
SC-5
SC-6
SC-7
SC-8
SC-9
SC-10
SC-12
SC-16

SC-3~8C-12
SC-16=30"

SC
=BT (AT HA)

3-jaw scroll chuck plain back, solid jaws
(front and back mounted)

1.1E~ R - STBURMER °

2. BEERARAETENEERR - REBEERM Y -

3. #5/E0.03mm (0.0012") T.I.R.

A FEMEBRKEMEE  BRARSRER; BASR—R
ME3MEZM A -

Ll

Back Mounting

[&]

@E
@C
#D
@A

©
——

2N\
#_J N AL
4_Front Mounting

BT : mm

86
112
132
167
192
200
232
273
310
405

46
60
60
67
76.5
76.5
84
87
96
122

60 73
80 95
100 115
130 147
155 172
160 176
190 210
230 250
260 285
345 375

16
24
32
45
58
58
70
89
105
160

4.1
438
4.8
5.5
5.5
5.5

~

8.7

3-M6 / 3-M6x50
3-M8 / 3-M8x70
3-M8 / 3-M8x70
3-M10/ 3-M10x70
3-M10/3-M10x80
3-M10 / 3-M10x80
3-M12/3-M12x90
3-M12/3-M12x90
3-M12/3-M12x110
— /6-M14x130

110
146

11 143 7 3.0 900 2500 1.7 - @2-070 / @24-064
14 166 8 4.5 1200 2500 3.7 = @3-095 / @29-084
16 203 8 6.5 1500 2500 5.2  0.01 @3-0110 / @33-@100
19 237 10 9.0 2200 2000 9.3 0.03 04-0160 / ©48-0150
215 294 11 11.0 2500 2000 14.2 0.06 04-0180 / ©56-@170
215 294 11 11.0 2500 2000 16 0.07 @4-0190 / ©62-@180
24 356 12 15.0 3000 2000 22.7 0.15 05-0220 / ©62-0210
28 395 12 19.5 4000 1800 31.8 0.25 ©6-0260 / @70-2250
30 456 14 21.0 4200 1800 44.8 0.58 @10-0@300 / @86-D290
42 56.3 15 25.0 4500 1500 102 1.75 (©@30-0380/0110-0360

SIC
mTUBEISEEE (Bt RHEA)

4-jaw scroll chuck plain back, solid jaws
(front and back mounted)

MEREENART ks - JAIEEERIEDD -
CEETHNRE  BEMS -

- RYTERERETEESCRIAERE -

REMERKEMNEE  ERARSEEE BRASR—K
MEfG A

A W N -~

A
Back Mounting

[5]n}
DA

!

SIC-16=45" ', Front Mounting

EBi7 : mm
il
]
SIC-7 192 765 155 172 58 55 3M10/3-M10x80 77 21.5 294 11 110 2500 2000 148 006 ©4-0180/@56-0170
SIC-9 232 84 190 210 70 6 3M12/3M12x90 87 24 856 12 150 3000 2000 232 0.6 @5-0220/ @62-0210
SIC-12 310 96 260 285 105 7 3M12/3-Mi2x110 110 30 456 14 210 4200 1800 47 058 ©10-0300/O86-0290
SIC-16 405 122 345 375 160 87 —/6-M14x130 146 42 563 15 250 4500 1500 107 172 (30-0380/0110-0360



AUTO

Sirong

A STRONGHOLD BY PRECISION AND POWER.

SK
=Ma NEBTEE (AR

3-jaw strong scroll chuck plain back,
2-piece jaws (front and back mounted)

SIK
MM DB ESEEE (i LA

4-jaw strong scroll chuck plain back,
2-piece jaws (front and back mounted)

£
1. @ NREEHGERE - BTESESHIIHE - EMES ' 1.EMIENARANEREEETHMRMNI -
REIHINBEENT  MEXBERAE - 2.EMBAEFEMNT > BIURFRAIHE -
2. EMa{EIEMRRMAA ° 3. R~ AR EHEESKELAE A -
3. ¥5/Z0.03mm (0.0012") T.L.R. ° 4. REBMERREMES  BRARSEEE; HEAESK—K
4. REMERKEMSE BERRSEEH  HESR—K ME3EFZm A -
ME3E M A -
ERTEE ERTEE
i gL, {adEfL,
o /Back Mounting o /Mg
: PN 4
+ =
o - ]
B
EF |8 EEEE
A YA N D S
F ' F
o / o
g L% N / LIzl —t+
e L;J N\ aiL SIK-7~8IK-12=30°  ~=12"_ LB—_‘ N\ iR
SK-6~5K-12= 31° " \_Front Mounting SIK-16=15° %, Front Mounting
SK-16=30°
BSfi1 - mm
R &
SK-4 112 58 80 95 32 48 3-M8/3-M8x65 47 19 316 8 45 1200 2500 38 — @3-095 / @34-090
SK-6 167 67 130 147 45 55 3-M10/3-M10x70 72 26 402 10 9.0 2200 2000 9 003 @4-0160/@55-0150 T
SK-7 192 765 155 172 58 55 3-M10/3-M10x80 812 28 42 11 110 2500 2000 13.8 006  @8-@180/@62-3170 w5t
SK-8 200 765 160 176 58 55 3-M10/3-M10x80 82 28 42 11 110 2500 2000 155 007  ©8-0190 / @68-0180 %
SK-9 232 84 190 210 70 6 3-M12/3-M12x90 909 82 51.2 12 150 3000 2000 22 0.6 @11-9220/@70-0210 SIK-7 192 765 155 172 58 55 G3-M10/3-M10x80 82 28 42 11 110 2500 2000 141 006  ©8-0180/@62-0170
SK-10 278 87 230 250 89 8 G8-M12/3-Mi2x90 1005 85 56.7 12 195 4000 1800 29.7 026 @12-9260/@80-0250 SIK-9 2382 84 190 210 70 6 G8-M12/3-Mi2x90 96 32 512 12 150 3000 2000 222 0.6 @11-0220/@70-@210
SK-12 310 96 260 285 105 7 38-M12/3-M12x110 1145 40 56.8 14 210 4200 1800 435 058 @15-9300 /@90-0290 SIK-12 310 96 260 285 105 7 3-M12/3-M12x110 1145 40 56.8 14 210 4200 1800 45 058 ©15-9300 / @90-@290
SK-16 405 122 345 375 160 87 —/6-M14x130 1486 50 76.1 15 250 4500 1500 98 1.72 ©30-0380/@110-0360 SIK-16 405 122 345 375 160 8.7 —/6-M14x180 1486 50 761 15 250 4500 1500 108 1.72 ©30-©380/@110-0360



AUTO

A
strona@ A STRONGHOLD BY PRECISION AND POWER.

KD
4B = [T B B 56 2R

3-jaw strong scroll chuck D1
camlock direct mounting, 2-piece jaws

1. RIFFEE0.03mm (0.0012") T.I.R. °

2 AZERY | —XREFERINARMRILIRT - —HEERIRH o

3. ABMEBERKEMEE - BRRERLE  BEASK—BRME
3fFE M -

mt
Bo
>l
el
]

¢

F:

E

|

I==
@Fa

.@A

81 : mm

25
BE B e e vy o R e W BT e

KD4-8" D1-4 200 772 53 82 28 422 11 63513/ 13 /15.8/ 82.55 11.5 2500 2000 185 0.07 @8-0180/062-0170
KD5-8" D1-5 200 772 55 82 28 422 11 82563 / 16 / 19 /104.78 11.5 2500 2000 18 0.07 @8-©180/062-0170
KD6-8" D1-6 200 772 58 82 28 422 11 106.375/ 17 /22.2/133.35 115 2500 2000 17 0.07 ©8-0180/@62-0170
KD6-10" Di1-6 250 86 76 909 32 50.8 12 106.375/ 17 /22.2/133.35 19.5 4000 1800 29.5 0.2 ©11-@220/Q70-0210
KD6-12" D1-6 306 107.5 103 1145 40 57.8 14 106.375/13.5/22.2/133.35 21.0 4200 1800 47 0.5 ©15-@300 / @90-0290
KD8-10" D1-8 250 86 80 90.9 32 50.8 12 139.719/ 19 /25.4/171.45 19:5 4000 1800 27 0.2 ©11-©220/Q@70-0210
KD8-12" D1-8 306 107.5 103 1145 40 57.8 14 139.719/ 18 /25.4/171.45 21.0 4200 1800 47 0.5 ©15-@300 / @90-@290

B
R 1%

SE-4
SE-6
SE-7

SE
ATUE SR

6-jaw scroll chuck plain back

1. 8588 ~ IREET) ~ TAPE - ETRER LIFRFFME - ERALEINEE
RiBH -

2. RKILERE - EFOTITHERERRE -

3. BEEMANICE - EEREERE -

4. FEMERKEMNRE  BRARSEERE  BRER—RMESG
R A -

PE
zC
@D
DA

BE{i7 : mm
112 66 80 95 32 4.8 3-M8x65 45 14 397 8 30 6.5 1.6 440 1200 4 - 02-032
165 67 130 147 51 5.5 3-M8x70 66.5 19 407 10 233 6.2 2.8 660 1200 9 0.03 @3-051
192 76,5 155 172 80 5.5 3-M10x75 77 215 615 11 24 53 3.6 850 1000 14 0.06 @3-080



i
K]

N-205A4
N-205A5
N-206A4
N-206A5
N-206A6
N-208A5
N-208A6
N-208A8
N-210A6
N-210A8
N-210A11
N-212A6
N-212A8
N-212A11
N-215A8
N-215A11
N-215A15
N-218A8
N-218A11
N-218A15
N-220A11
N-220A15
N-224A11
N-224A15
N-224A20
N-232A11
N-232A15
N-232A20

B3l
[ERLd

(mm)

@33
@33
045
@45
@45
@52
@52
@52
Q75
Q75
@75
@91
@91
@91
01175
@117.5
©117.5
@117.5
@117.5
@117.5
180
@180
@205
@205
@205
@230
@230
@230

4372
5.4
5.4
5.5
5.5
5.5
7.4
7.4
7.4
8.8
8.8
8.8

10.6
10.6
10.6
10.6
10.6
10.6
10.6
10.6
10.6
10.6
10.6
12
12
12
18
18
18

RASEH
#1173
(kgf)
1784
1784
2243
2243
2243
3558
3558
3558
4385
4385
4385
5812
5812
5812
7240
7240
7240
7240
7240
7240
9177
9177
9177
9177
9177
10197
10197
10197

BA
ES

3-jaw through-hole power chuck

(adapter included)
- N-200ABYZEEEZ Ik ASA B5.9 AR EBIIZ#EMERAT -

57

(kgf)
3671
3671
5812
5812
5812
9075
9075
9075
11319
11319
11319
14990
14990
14990
18355
18355
18355
18355
18355
18355
23861
23861
23861
23861
23861
24472
24472
24472

RAER &8
SHER D R
(kgf / cm?) (r.p.m.)

28.5 7000
28.5 7000
28.5 6000
28.5 6000
28.5 6000
26.5 5000
26.5 5000
26.5 5000
27.5 4200
27.5 4200
27.5 4200
27.5 3300
27.5 3300
27.5 3300
23.5 2500
23.5 2500
23.5 2500
23.5 2000
23.5 2000
235 2000
30.6 1800
30.6 1800
26.5 1400
26.5 1400
26.5 1400
29.5 1200
29.5 1200
29.5 1200

E

(kg)

7.8

15.5
14.7
17.3
25.8
25
29.3
41
38
48.4
62.5
59.5
69.9
125
118
138
146
138
191
215
202
332
317
286
530
515
485

1856
(kg L
0.020
0.023
0.065
0.062
0.073
0.190
0.184
0.217
0.370
0.340
0.436
0.809
0.770
0.912
2.255
2.241
2.822
3.961
3.744
5.183
7.355
6.910
18.199
17.376
15.677
43
43
42

bEl=)
S EREL
M1036
M1036
M1246
M1246
M1246
M1552
M1552
M1552
M1875
M1875
M1875
M2091
M2091
M2091
M2511S
M2511S
M25118
M2511S
M2511S
M25118
ML2816
ML2816
ML3320
ML3320
ML3320
ML3320
ML3320
ML3320

e
o

B&@m
HJO5
HJO5
HJO6
HJ06
HJ06
HJ08
HJO8
HJ08
HJ10
HJ10
HJ10
HJ12
HJ12
HJ12
HJ15
HJ15
HJ15
HJ15
HJ15
HJ15
HJ24-1
HJ24-1
HJ24-1
HJ24-1
HJ24-1
HJ24-1
HJ24-1
HJ24-1

P
(=}

M
HCO05
HCO05
HCo06
HCO06
HCo06
HC08
HC08
HC08
HC10
HC10
HC10
HC12
HC12
HC12
HC15
HC15
HC15
HC15
HC15
HC15

HC24-1
HC24-1
HC24-1
HC24-1
HC24-1
HC24-1
HC24-1
HC24-1

BT : mm
PUSEDIS
B

(mm)
D6-0135
06-0135

015-0169
015-0169
015-0169
@20-0210
@20-0210
@20-0210
025-0254
025-0254
025-0254
@30-2304
@30-0304
@30-0304
050-0381
050-0381
050-0381
050-09450
@50-0450
@50-0450
©120-0510
©120-0510
©150-0610
©150-0610
@150-0610
©210-2800
©210-2800
©210-2800

Fig-2

B C

N-205A4
N-205A5
N-206A4
N-206A5
N-206A6
N-208A5
N-208A6
N-208A8
N-210A6
N-210A8
N-210A11
N-212A6
N-212A8
N-212A11
N-215A8
N-215A11
N-215A15
N-218A8
N-218A11
N-218A15
N-220A11
N-220A15
N-224A11
N-224A15
N-224A20
N-232A11
N-232A15
N-232A20

135 71 110
135 88 110
169 96 140
169 91 140
169 111 140
210 109 170
210 103 170
210 126 170
254 120 220
254 113 220
254 145 220
304 129 220
304 122 220
304 154 220
381 160 300
381 149 300
381 184 300
450 160 300
450 149 300
450 184 300
510 169 380
510 155 380
610 186 520
610 183 520
610 166 520
800 189 520
800 186 520
800 169 520

-..E..-
J B
DE F G H J k L wmN
14 15 63.513 96 8255 155 3-M10 33 4 265
14 32 82563 8255 104.78 14 3-M10 33 4 26.5
20 20 63.513 104.78 8255 16 6-M10 45 5 32
20 15 82,563 116 104.78 16 6-M10 45 5 32
20 35 106.375 104.78 133.35 16 6-M10 45 5 32
25 23 82.563 133.35 104.78 14 6-M12 52 5 38.7
25 17 106.375 150 133.35 18 6-M12 52 5 387
25 40 139.719 133.35 171.45 24 6-M12 52 5 387
30 25 106.375 171.45 13335 18 6-M16 75 5 514
30 18 139.719 190 17145 24 6-M16 75 5 514
30 50 196.869 17145 235 28 6-M16 75 5 514
30 25 106.375 171.45 133.35 18 6-M16 91 6 61.3
30 18 139.719 190 17145 25 6-M16 91 6 61.3
30 50 196.869 17145 235 28 6-M16 91 6 61.3
43 33 139.719 235 17145 24 6-M20 1175 6 82
43 22 196.869 260 235 28 6-M20 1175 6 82
43 57 285.775 235 3302 29 6-M20 1175 6 82
43 33 139.719 235 17145 24 6-M20 1175 6 82
43 22 196.869 260 235 28 6-M20 1175 6 82
43 57 285.775 235 3302 29 6-M20 1175 6 82
60 41 196.869 330.2 235 30 6-M24 180 6 1125
60 27 285.775 330.2 330.2 33 6-M24 180 6 1125
60 45 196.869 463.6 235 28 6-M24 205 6 131.9
60 42 285.775 463.6 330.2 32.5 6-M24 205 6 131.9
60 25 412,775 463.6 4636 35 6-M24 205 6 131.9
60 45 196.869 463.6 235 28 6-M24 230 6 162
60 42 285.775 463.6 330.2 325 6-M24 230 6 162
60 25 412.775 463.6 4636 35 6-M24 230 6 162

(0]

max.
19.75
19.75
22.75
22,75
22.75
29.75
29.75
29.75
33.75
33.75
33.75
45.75
45.75
45.75
45.25
45.25
45.25
79.75
79.75
79.75
60.5
60.5
87.5
87.5
87.5
153.5
153.5
153.5

(0]

min.
7.75
7.75
9.25
9.25
9.25

11.75 375 21.5
11.75 315 1565
11.75 545 385
14.25 335 145

N-205~MN-218 Serration Pitch 1.5
#N-220~N-224 Serration Pitch 3.0

1207x3pcs : N-205
157 1 N-206~N-218
307 1 N-220~N-224

P PQR s T

max.

16
33
31
26
46

min.
6
23
19
14
34

14.25 265 7.5

14.25 58.5 39.5

i5Y5)
15.75
15.75
15.25
15.25
15.25
i15125;
15.25
15.25
245
245
24.5
245
245
24.5
245
245

33
26
58
40
29
64
40
29
64
52
38
61
58
41
61
58
41

10
3
35
17
6
4
17
6
4
29
15
35
32
15
27
24
7

o o o o o g o o g o g o g o N N DD NN DD DD DD D DN DN

10
10
12
12
12

20
20
19
19
19

u

max.

vV WX

25 M40x1.5 3-M6 44.5 31
M40x1.5 6-M10 44.5 31

25
31
31
31

14 20.5 35
14 20.5 35
14 20.5 35

16
16
16
21
21
21
22
22
22
22
22
22
25
25
25
25
25
25
25
25

25
25
25
28
28
28
43
43
43
43
43
43
38
38
38
38
38
38
38
38

40
40
40
50
50
50
62
62
62
62
62
62
64
64
64
64
64
64
64
64

M55x2
M55x2
M55x2
M60x2
M60x2
M60x2
M85x2
M85x2
M85x2
M100x2
M100x2
M100x2
M130x2
M130x2
M130x2
M130x2
M130x2
M130x2
M190x3
M190x3
M215x3
M215x3
M215x3
M250x3
M250x3
M250x3

6-M10 60 37
3-M6 60 37
6-M12 60 37
6-M10 66 38
3-M6 66 38
6-M16 66 38
6-M12 94 43
3-M8 94 43
6-M20 94 43
6-M12 108 51
3-M8 108 51
6-M20 108 51
6-M16 139 66
3-M10 139 66
6-M24 139 66
6-M16 139 66
3-M10 139 66
6-M24 139 66
6-M20 206 73
3-M12 206 73
6-M20 230 73
6-M24 230 73
3-M10 230 73
6-M20 262 73
6-M24 262 73
3-M10 262 73

Y

62

62

73

73

73

95

95

05

110
110
110
130
130
130
165
165
165
165
165
165
180
180
180
180
180
180
180
180

ES{T : mm
2E8
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-3
Fig-2
Fig-1
Fig-2
Fig-2
Fig-1
Fig-2
Fig-2
Fig-1



AUTO

A
strona@ A STRONGHOLD BY PRECISION AND POWER.

N-200 NT-200
= MepZhERTE (REEER) = MepZhERTE (RSB

3-jaw through-hole power chuck 2-jaw through-hole power chuck
(adapter excluded) (adapter excluded)

1. KEBHAE- 1. NT200REEHKAS RS MM E - FIERIEEREAREL
2. BEEE - RAEEE - MERBEREERMAM - HERREM -

2. EN : 1.5mmx60°$EEFIRTRO
3. 2K EAUEHBERENRS DIN, BS, ISO, ASA, B5-9, AR!

EiN-204~N-218 Serration Pitch 1.5
MN-220~N-224 Serration Pitch 3.0

, ! ZEMRE -
E -
ERTH u B e ERTH }ii# Serration Pitch 1.5
" o, X
) zi !
55 GEll-s :
= I
=1
S0 E
EE—TF——
| /0 \ , s %i
</ I oI e s g
L B A 307 1 N-220-N-224
B{T7 : mm
RAE |
N-204 @26 10 5.4 1428 2906 31.6 8000 4 0.007  M0928  HJO5 HCo4 24-0110
N-205 @33 10 5.4 1784 3671 28.5 7000 7 0.018  M1036  HJO5 HCo5 6-0135
N-206 @45 12 5.5 2243 5812 28.5 6000 135 0057  M1246  HJO6 HCOB  O15-0169
N-208 @52 16 7.4 3558 9075 26.5 5000 23 0.17 M1552  HJ08 HCo8  ©20-@210
N-210 @75 19 8.8 4385 11319 27.5 4200 35 0315  M1875  HJ10 HC10  @25-0254
N-212 291 23 10.6 5812 14990 27.5 3300 565 0737  M2091 HJ12 HC12  @30-@304 807 mm
N-215  @1175 23 10.6 7240 18355 235 2500 111 227  M2511S  HJ15 HC15  @50-0381 w5t _
N-218  ©1175 23 10.6 7240 18355 23.5 2000 131 355  M2511S  HJ15 HC15  @50-9450 BB
N-220 @180 23 10.6 9177 23861 30.6 1800 190 65  ML2816 HJ24-1 HC24-1  @120-0510 NT-205 @33 10 5.4 1189 2447 195 7000 6.8 0017  M1036 HJO5 HCO5  ©@6-0135
N-224 205 26 12 9177 23861 26.5 1400 270 148  ML3320 HJ24-1 HC24-1  @150-0610 NT-206 @45 12 5.5 1495 3875 18.9 6000 12.8  0.054 Mi246 HJO6 HCO06 ©15-0169
N-232 @230 34 18 10197 24472 29.5 1200 470 41 ML3320  HJ24-1  HC24-1  ©210-0800 NT-208 @52 16 7.4 2366 5975 18.4 5000 22 0163  M1552  HJO8  HCO08  ©20-@210
NT-210 @75 19 8.8 2927 7546 18.4 4200 34 0.306 M1875 HJ10 HC10  @25-9254
ﬁRéfjﬁ NT-212 Qo1 23 10.6 3875 9993 18.4 3300 55 0717  M2091  HJ12  HC12  (30-Q304
N-204 110 59 85 14 706 16 3-M10x60 26 4 232 1375 625 35 -65 2 10 175 23 M32x1.5 38 24 495 NT-215 01175 29 106 4823 12236 193 2500 106 247 M2STISHJIS - HOTS - 050-0381
N-205 135 60 110 14 8255 15 3-M10x60 33 4 265 1975 775 1 -9 2 10 20 25 M40x1.5 445 31 62 NT-218  on7s 23 106 4823 12236 193 2000 122 831 M25TIS  HJIS - HOTS - 050-0450
N-206 169 81 140 20 10478 16 6-M10x80 45 5 32 2275 925 11 -1 2 12 19 31 M55x2 60 37 73 T ot
N-208 210 91 170 25 133.35 20 6-M12x90 52 5 887 2975 11.75 145 -15 2 14 205 35 M60x2 66 38 95 R
N-210 254 100 220 30 171.45 22 6-M16x100 75 5 514 3375 1425 85 -105 2 16 25 40 M85x2 94 43 110 NT-205 135 60 110 14 8255 15 4-M10x60 33 4 265 1975 775 1 -9 2 10 20 25 MAOx1.5 445 31 62
N-212 304 110 220 30 171.45 23 6-Mi6x110 91 6 613 4575 1575 8 -15 2 21 28 50 M100x2 108 51 130 NT-206 169 81 140 20 10478 16 6-M10x80 45 5 82 2275 925 11 -1 2 12 19 31 M55x2 60 87 73
N-215 381 133 300 43 235 30 6-M20x135 1175 6 82 4525 1525 7 -16 5 22 43 62 M130x2 139 66 165 NT-208 210 91 170 25 13335 20 6-M12x90 52 5 887 2975 1175 145 -1.5 2 14 205 35 MeOx2 66 38 95
N-218 450 133 300 43 235 30 6-M20x135 1175 6 82 7975 1525 7 -16 5 22 43 62 M130x2 139 66 165 NT-210 254 100 220 30 171.45 22 6-M16x100 75 5 51.4 3375 1425 85 -105 2 16 25 40 M85x2 94 43 110
N-220 510 134 380 60 330.2 35 6-M24x135 180 6 1125 605 245 11 -12 5 25 38 64 M190x3 206 73 180 NT-212 304 110 220 30 17145 23 6-M16x110 91 6 613 4575 1575 8 -15 2 21 28 50 M100x2 108 51 130
N-224 610 147 520 60 463.6 35 6-M24x150 205 6 131.9 875 245 16 -10 5 25 38 64 M215x3 230 73 180 NT-215 381 133 300 43 235 30 6-M20x135 1175 6 82 4525 1525 7 -16 5 22 43 62 M130x2 139 66 165
N-232 800 150 520 60 463.6 35 6-M24x150 230 6 162 1585 245 16 -18 5 25 38 64 M250x3 262 73 180 NT-218 450 133 300 43 235 30 6-M20x135 1175 6 82 7975 1525 7 -16 5 22 43 62 M130x2 139 66 165



AUTO

A
stronq A STRONGHOLD BY PRECISION AND POWER.

NIT-200
,— MM z=;HEEREE (R EER)

4-jaw through-hole power chuck
(adapter excluded)

1. NIT200E! R EEIE SRS EHMME - REBRIELREEL
MRERE > MRSEBBERMAM  MELREM -

2. ET : 1.5mmx60° $BEFARERO -

3. R AU EIBERIEWMFS DIN, BS, ISO, ASA, B5-9, ARY
ZEBIEE -

ERTE X 419-’;4 Serration Pitch 1.5
'-'—/-j’ (NIT-224 Pitch 3.0) - T
| —j
T - 5 )
=) |
U | | 1 . | -
ol " | \ O
L 1L | Y
o * |
< E L g || e { .
© II,
1 E==] ,"I

BT : mm

Bz
1B

NIT-206 @45 12 55 2243 5812 28.5 4500 13.7 0.058 M1246 HJ06 HCo06
NIT-208 @52 16 7.4 3558 9075 26.5 3600 24 0.177 M1552 HJ08 HCO08
NIT-210 75 19 8.8 4385 11319 27.5 3200 36 0.324 M1875 HJ10 HC10
NIT-212 @91 23 10.6 5812 14990 27.5 2700  58.5 0.763 M2091 HJ12 HC12
NIT-215  ©117.5 23 10.6 7240 18355 23.5 1900 114 2.331 M2511S HJ15 HC15
NIT-218 ©117.5 23 10.6 7240 18355 23.5 1500 140 3.798 M2511S HJ15 HC15
NIT-224 @205 26 12 9177 23861 26.5 1000 284 15.2 ML3320  HJ24-1 HC24-1

B 5

R~
NIT-206 169 81 140 20 104.78 16 4-M10x80 45
NIT-208 210 91 170 25 133.35 20 4-M12x90 52
NIT-210 254 100 220 30 171.45 22 4-M16x100 75
NIT-212 304 110 220 30 171.45 23 4-Mi16x110 91
NIT-215 381 133 300 43 235 30 4-M20x135 1175
NIT-218 450 133 300 43 235 30 4-M20x135 117.5
NIT-224 610 147 520 60 463.6 35 8-M24x150 205

32 2275 925 11 -1
38.7 29.75 11.75 145 -1.5
514 3375 1425 85 -10.5
4575 1575 8 =18

82 4525 1525 7 -16

82 79.75 1525 7 -16
131.9 875 245 16 -10

o o o o o o g
()]
=
(M)
g a o N D NN
n
—_
n
(o)
(o))
o

015-0169
©20-0210
025-0254
@30-2304
@50-0381
@50-0450
©150-0610

12 19 31 M55x2 60 37 73

14 205 35 MeOx2 66 38 95

16 25 40 M85x2 94 43 110
M100x2 108 51 130
22 43 62 M130x2 139 66 165
22 43 62 M130x2 139 66 165
25 38 64 M215x3 230 73 180

NHT-200
== Mt A 2= 3R

2-jow and 3-jaw through-hole power chuck
(adapter included)

1. IERET R TR > FERKEE -

2. JEEETR UK ASA B5.9 ABY X EIIER AT o

. RERASHRESMME  FAIEBIEMKSKREEL RHAERE
B URSEEEERMAM -

fil# Serration Pitch 1.5

Fig-1 X -

7_9-7-?-0.
| ga
\ V t
_|
A\ ;
Ni
il
LT

RN B 4
Bl : mm
R8s
NHT-208A5 @52 16 7.4 2243 / 1495 5812 /3875 17.2/121 3500 25.5 M1552 HJ06 HCO08-1
NHT-208A6 @52 16 7.4 2243 /1495 5812 /3875 17.2/121 3500 24.7 M1552 HJ06 HC08-1

B

R~
NHT-208A5 210 113 170 20 23 82.563 133.35 104.78 14 6xM12 52 5 41.8 34 7.5 37.5 21.5 2 12 20.5 35 M60x2 6xM10 66 37 73 Fig-2
NHT-208A6 210 107 170 20 17 106.375 150 133.35 17 6xM12 52 5 41.8 34 7.5 31,5 155 2 12 20.5 35 M60x2 3xM6 66 37 73 Fig-1



AUTO

Sirong

A STRONGHOLD BY PRECISION AND POWER.

NB-200A
=MBAPEHERE (S EE)

3-jaw extra large through-hole power chuck
(adapter included)

15° : NB-306~NB-212
BE 5 Serration Pitch 1.5

B
1R

NB-306A5
NB-306A6
NB-208A6
NB-210A8
NB-310A8
NB-212A8
NB-212A11
NB-215A15
NB-218A15

@52
@52
66
@78
@81
0122
a122
@142
0166.5

1 BAEEILE  HERED  RRAZEEIE - Fig-2 ,  TEASEEE
2. RERIEIRE20% © lb—HR%eE - BE#20%2WE - "IENR 8 %H /
EEAERT - — - - @
3. NB-200AB!BREER K ASA B5.9 AR EBIERETIREt - === 5, SIS o
4. NB-200AREFARABMRE MM E - FIARDENEREREL B S— o7 A% AN
REFERE - W25 B R A M - " _ Ly | ,
> R\
ERTE & 7 /\K i
38
Yol
sef S
| E
> : |
,[ M A5 LZ‘ 74
S L.E| 5 72
B3
R
NB-306A5 170 91 140 20 15 82.563 116 104.78 145 6-M10 52 5 37 18.25 9.25 26 14
NB-306A6 170 111 140 20 35 106.375 104.78 133.35 16 6-M10 52 5 37 18.25 9.25 46 34
NB-208A6 210 103 170 25 17 106.375 150 133.35 19.5 6-M12 66 5 45.7 23.75 11.75 315 15.5
NB-210A8 254 113 220 30 18 139.719 190 171.45 24 6-M16 78 5) 53 33.75 1425 26.5 7.5
NB-310A8 254 113 220 30 18 139.719 190 171.45 24 6-M16 81 5 54 32.25 14.25 26.5 7.5
NB-212A8 315 145 300 30 33 139.719 235 171.45 24 6-M20 122 6 79.5 33.75 11.25 53 30
NB-212A11 315 134 300 30 22 196.869 260 235 28 6-M20 122 6 79.5 33.75 11.25 42 19
NB-215A15 405 154 380 43 27 285.775 330.2 330.2 33 6-M24 142 6 935 45.25 15.25 34 11
NB-218A15 457 154 380 43 27 285775 330.2 330.2 33 6-M24 166.5 6 102 63.25 18.25 34 11

12
12
16
19
19
23
23
23
23

5.4
5.4
7.4
8.8
8.8
10.6
10.6
10.6
10.6

2243
2243
3558
4385
4976
5812
5812
7240
7240

5812
5812
9075
11319
12848
14990
14990
18355
18355

18.4
18.4
22.0
27.5
31.5
20.5
20.5
2515
25.5

6000
6000
5000
4200
4500
3200
3200
2500
2000

14
15.6
24
37.4
36.4
72.2
65
130
161

0.06
0.087
0.14
0.4
0.33
1.04
0.95
3.0
4.77

M1552
M1552
M1768
M1878
MK1881
M2511S
M25118
ML2816
ML2816

HJ06
HJ06
HJ08
HJ10
HJ10
HJ12
HJ12
HJ15
HJ15

HCO06
HC06
HCO08
HC10
HC10
HC12
HC12
HC15
HC15

i1 : mm

@20-0170
@20-0170
026-0210
036-0254
037-0254
059-0315
059-0315
60-0405
078-0457

NB-306A5
NB-306A6
NB-208A6
NB-210A8
NB-310A8
NB-212A8
NB-212A11
NB-215A15
NB-218A15

(SN, BN \CRE \C R \C R \C RN \C R \C RN b}

*{EHETTM7 4x2

12
12
14
16
16

20
20

31
31

M60x2
M60x2
*M75x2
M87x2
Mo0x2
M135x2
M135x2
M155x2
M180x3

3-M6
6-M12
3-M6
3-M8
3-M8
6-M16
3-M10
3-M12
3-M12

143
164
189

110
130
130
165
165

16
16
16
16
16

M8x15

M8x15

M8x15
M10x20
M10x20
M10x10
M10x10
M12x22
M12x22

123
145
145

R 1

Fig-1
Fig-3
Fig-1
Fig-1
Fig-1
Fig-2
Fig-1
Fig-1
Fig-1



<= P =
"0"’0',"/’
P e

AUTO

Sirong

A STRONGHOLD BY PRECISION AND POWER.

Vv
=M EHERE (RS EER)

3-jaw wedge type non through-hole
power chuck (adapter excluded)

1. EEAE  ENRFIREE—BZ B MAE

2. BREER B IR 44 ¢ 2451 5K B B T U A0 A A5 A PR GE R E D

VT&VIT
= MR MM P EEESEER (R &R

2-jaw and 4-jow wedge type non
through-hole power chuck (adapter excluded)

1 EERKERG - BARZMKRERERFZIBATMRIH - IRA
iz ~ EREO#& -

2. AJEVER VARV E# -

3. BARRTRBEIVEIFES -

4. SERERVEISEE -

“—

HEZSerration Pitch 1.5 iJi¢ Serration Pitch 1.5

s P X T 8 P X T VT
| | . F— /
1 1 4
. & T &
) ] 2 (]
V-205 —1 > (4} - s ]l (3
o) A ¥ - o, g N2
=4 | ’\ =z Z | .
i 1 = ‘ - RS — - = ( i ! 7 - l
=T Lo R
=" SN H D= 2 S A\, , :
V-205(1) — ﬁ I \ '
<l o () I o ) ‘ =) -
| . < ~J
™ s | = as) = - = ™ = |
== e e v
1 //‘ -,*"—-
_}S/ M - K/ M R
B 0" =V-205 o B
15°2V-206~V-218 - - m
o]
BSfi1 : mm Bfil : mm
B Ll ey
R B b
V-205 15 6.4 836 2570 22.4 5500 6.3 0.015 MH80 HJ05 HCO05 06-0135 VT-206 2 20 9.2 1224 3569 17.3 5200  12.3 0.045  MS105C  HJO6 HCO6 018-0165
V-206 20 9.2 1835 5353 26.5 5200 127 0.048 MS105C HJ06 HC06 018-0165 VT-208 2 21 9.7 1683 5098 16.3 4500 231 0.13 MS125C  HJ08 HCo8 026-0210
V-208 21 9.7 2549 7648 25.5 4500  23.8 0.137 MS125C HJos HCo8 026-0210 VT-210 2 25 8.8 1988 7342 19.4 4000  35.1 0.29 MS125C  HJ10 HC10 026-0254
V-210 25 8.8 2957 11013 28.6 4000  36.4 0.3 MS125C HJ10 HC10 026-0254 VT-212 2 30 10.5 2804 10605 18.4 3300  60.3 0.7 MS150C  HJ12-1  HC12-1  ©26-0304
V-212 30 10.5 4181 15907 27.5 3300 623 0.78 MS150C  HJ12-1 HC12-1 026-0304 VIT-212 4 30 10.5 4181 15907 275 2800  64.3 0.77 MS150C  HJ12-1  HC12-1  026-@304
V-215 35 16 8362 25391 32,6 3000 106 1.94 MS200C  HJ15-1 HC15-1 068-0381 VT-215 2 35 16 5557 16927 21.7 3000 1026 1.89 MS200C  HJ15-1  HC15-1  ©68-0381
V-218 35 16 8362 25391 32.6 2700 122 3.09 MS200C  HJ15-1 HC15-1 098-0450 VIT-218 4 35 16 8362 25391 32.6 2300 127 3.21 MS200C  HJ15-1  HC15-1  ©98-@450
B B
R~ R~
V-205 135 55 80 14 100 14 3-M8x60 — 7 305 1675 625 9 6 3 10 35 25 Mi2x1.75 28 32 62 VT-206 165 74 140 20 10478 14 4-M10x70 21 5 387 1525 7.75 1046 846 4 12 36 31 M16x2.0 34 39 73
V-206 165 74 140 20 10478 14 6-M10x70 21 5 387 1525 7.75 1046 846 4 12 36 31 Mi6x2.0 34 39 73 VT-208 210 85 170 25 133.35 20 6-M12x85 25 5 4675 2225 875 132 111 5 14 36 35 M20x25 38 41 95
V-208 210 85 170 25 133.35 20 6-M12x85 25 5 4675 2225 875 132 111 5 14 36 35 M20x25 38 41 95 VT-210 254 89 220 30 17145 18 6-M16x85 34 5 511 3075 975 158 133 5 16 36 40 M20x2.5 45 46 110
V-210 254 89 220 30 17145 18 6-M16x85 34 5 511 3075 975 158 133 5 16 36 40 M20x25 45 46 110 VT-212 304 106 220 30 17145 23 6-M16x105 34 6 61 4875 975 163 133 5 18 36 50 M20x2.5 50 54 130
V-212 304 106 220 30 17145 23 6-M16x105 34 6 61 4875 975 163 133 5 18 36 50 M20x25 50 54 130 VIT-212 304 106 220 30 17145 23 4-Mi6x105 34 6 61 4875 975 163 133 5 18 36 50 M20x25 50 54 130
V-215 381 114 300 43 235 29 6-M20x115 — 6 775 4975 2125 104 69 2 255 55 62 M30x35 60 63 165 VT-215 381 114 300 43 235 29 6-M20xi15 — 6 775 4975 2125 104 69 2 255 55 62 M30x35 60 63 165
V-218 450 114 300 43 235 29 6-M20x115 — 6 108 4975 2125 92 57 2 255 55 62 M30x35 60 63 165 VIT-218 450 114 300 43 235 29 4-M20x115 — 6 108 4975 2125 92 57 2 255 55 62 M30x35 60 63 165



- AUTO
strona@ A STRONGHOLD BY PRECISION AND POWER.

VA
= MBS (SEER)

3-jaw wedge type non through-hole
power chuck (adapter included)

- T EEC S H T ERFAASASIDINIA B Eo i ER X 8 -

- J B 15°=V-206~V-218
30°=V-221~V-232

AL mm &4t ¢+ mm
2o 2 5
N EE Y S W REYTT onoR B W
V-206A4 20 9.2 1835 5353 26.5 5200 14.5 0.062 MS105C HJO6 HCO06 218-3165 V-206A4 165 89 140 20 20 63.513 104.78 8255 16 6-M10 21 5 38.7 1525 7.75 84.6 646 4 12 36 31 M16x2.0 6-M10 34 39 73 Fig2
V-206A5 20 9.2 1835 5353 26.5 5200 13.9 0.056 MS105C HJO6 HCO06 18-0165 V-206A5 165 84 140 20 15 82563 116 104.78 14 6-M10 21 5 38.7 1525 7.75 89.6 69.6 4 12 36 31 M16x2.0 3-M6 34 39 73 Figl
V-206A6 20 9.2 1835 5353 26.5 5200 15.8 0.059 MS105C HJO6 HCO06 @18-0165 V-206A6 165 104 140 20 35 106.375 104.78 133.35 16 6-M10 21 5 38.7 1525 7.75 69.6 496 4 12 36 31 M16x2.0 6-M12 34 39 73 FigS
V-208A5 21 9.7 2549 7648 2585 4500 26.8 0.154 MS125C HJO8 HCO08 @26-0210 V-208A5 210 103 170 25 23 82.563 133.35 104.78 14 6-M12 25 5 46.75 2225 875 109 88 5 14 36 35 M20x2.5 6-M10 38 41 95 Fig2
V-208A6 21 9.7 2549 7648 25.5 4500 25.6 0.147 MS125C HJO8 HCO08 @26-03210 V-208A6 210 97 170 25 17 106.375 150 133.35 18 6-M12 25 5 46.75 2225 875 115 94 5 14 36 35 M20x2.5 3-M6 38 41 95 Figl
V-208A8 21 9.7 2549 7648 25.5 4500 30 0.172 MS125C HJO8 HCO08 @26-03210 V-208A8 210 120 170 25 40 139.719 133.35 171.45 24 6-M12 25 5 46.75 2225 875 92 71 5 14 36 35 M20x2.5 6-M16 38 41 95 Fig3
V-210A6 25 8.8 2957 11013 28.6 4000 41.8 0.35 MS125C HJ10 HC10 D26-0254 V-210A6 254 109 220 30 25 106.375 171.45 133.35 18 6-M16 34 5 51.1 30.75 9.75 133 108 5 16 36 40 M20x2.5 6-M12 45 46 110 Fig2
V-210A8 25 8.8 2957 11013 28.6 4000 39.6 0.33 MS125C HJ10 HC10 026-0254 V-210A8 254 102 220 30 18 139.719 190 171.45 25 6-M16 34 5 51.1 30.75 9.75 140 115 5 16 36 40 M20x2.5 3-M8 45 46 110 Figl
V-210A11 25 8.8 2957 11013 28.6 4000 50 0.417 MS125C HJ10 HC10 D26-0254 V-210A11 254 134 220 30 50 196.869 17145 235 28 6-M16 34 5 51.1 30.75 975 108 83 5 16 36 40 M20x2.5 6-M20 45 46 110 FigS
V-212A6 30 10.5 4181 15907 27.5 3300 67.6 0.76 MS150C HJ12-1 HC12-1 026-0304 V-212A6 304 125 220 30 25 106.375 171.45 133.35 18 6-M16 34 6 61 48.75 9.75 138 108 5 18 36 50 M20x2.5 6-M12 50 54 130 Fig2
V-212A8 30 10.5 4181 15907 27.5 3300 65.5 0.75 MS150C HJ12-1 HC12-1 026-0304 V-212A8 304 118 220 30 18 139.719 190 171.45 25 6-M16 34 6 61 4875 9.75 145 115 5 18 36 50 M20x2.5 3-M8 50 54 130 Figl
V-212A11 30 10.5 4181 15907 27.5 3300 75.9 0.888 MS150C HJ12-1 HC12-1 @26-0304 V-212A11 304 150 220 30 50 196.869 171.45 235 28 6-M16 34 6 61 4875 975 113 83 5 18 36 50 M20x2.5 6-M20 50 54 130 Fig3
V-215A8 35 16 8362 25391 32.6 3000 119 212 MS200C HJ15-1 HC15-1 J68-0381 V-215A8 381 141 300 43 33 139.719 235 171.45 24 6-M20 — 6 775 49.75 2125 71 36 2 255 55 62 M30x3.5 6-M16 60 63 165 Fig2
V-215A11 35 16 8362 25391 32.6 3000 113 2.05 MS200C HJ15-1 HC15-1 68-0381 V-215A11 381 130 300 43 22 196.869 260 235 32 6-M20 — 6 775 49.75 2125 82 47 2 255 55 62 M30x3.5 3-M10 60 63 165 Figl
V-215A15 35 16 8362 25391 32.6 3000 132 2.56 MS200C HJ15-1 HC15-1 68-0381 V-215A15 381 165 300 43 57 285.775 235 3302 29 6-M20 — 6 77.5 49.75 2125 47 12 2 255 55 62 M30x3.5 6-M24 60 63 165 FigS
V-218A8 85 16 8362 25391 32.6 2700 136 3.28 MS200C HJ15-1 HC15-1 @98-0450 V-218A8 450 141 300 43 33 139.719 235 171.45 24 6-M20 — 6 108 49.75 2125 59 24 2 255 55 62 M30x3.5 6-M16 60 63 165 Fig2
V-218A11 35 16 8362 25391 32.6 2700 129 3.20 MS200C HJ15-1 HC15-1 @98-3450 V-218A11 450 130 300 43 22 196.869 260 235 326-M20 — 6 108 49.75 2125 70 35 2 25,5 55 62 M30x3.5 3-M10 60 63 165 Figl
V-218A15 35 16 8362 25391 32.6 2700 148 3.71 MS200C HJ15-1 HC15-1 @98-3450 V-218A15 450 165 300 43 57 285.775 235 3302 29 6-M20 — 6 108 49.75 21.25 35 0 2 255 55 62 M30x3.5 6-M24 60 63 165 Fig3



AUTO
Stranq A STRONGHOLD BY PRECISION AND POWER.

V(40"-79")
AREPEHRHBREEMRS (F2EEWN)
Large wedge type non through-hole

power chuck (adapter excluded)

1 ERAREAREIH  AEHIMEZRSE -
2. REAIEEABERE - MKPERE - @GRIELER -
3. EAEHRARKMITREINGE  JRFABEFRAUTH -

VIT

<
m

Iy |
g |
%j' 3 ¥
] I; ]
oo [ | |
3¢ g = S T
. J 270 223
E Y] _ 762 381
— ~ T ~1
| T TTT 7 p
LU (. 2 i | +
: e I _E?‘é.:i—‘
! S R I — L 140 | & |
B Soft jaw HC40-1 Hard jaw HJ40-1

BT : mm

40" V-240
VIT-240

3 630 645 82

4 57 23 + (30) 180 320 428 550 700 89 MS250C HJ40-1 HC40-1 @285-01005
VE-240 6 450 700 89

50"V-250 3 500 890 168
VIT-250 4 57 23 + (30) 180 320 428 400 940 177  MS250C HJ40-1 HC40-1 @270-01250
VE-250 6 360 971 183

63"V-263 3 400 1800 548

VIT-263 4 60 24 + (40) 200 360 46.9 300 1700 518  MS250C HJ40-1 HC40-1 ©390-@1600

VE-263 6 280 1800 548

79"VE-279 6 60 24 + (40) 200 360 46.9 230 2850 1350 MS250C HJ40-1 HC40-1  @440-@2000

8 3t
R

40" V-240
VIT-240 1005 180 520 502 463.6 108 M24 M52x1.5 8 457 30 59 2 4 7-M24 19 85 72
VE-240

50" V-250
VIT-250 1250 180 520 623 463.6 108 M24 M52x1.5 8 563 30 59 2 4 10-M24 19 85 72
VE-250

63" V-263
VIT-263 1600 220 720 796 647.6 144 M30 M52x1.5 8 738 40 82 22 6 13-M24 22 110 72
VE-263

79"VE-279 2000 238 720 996 647.6 159 M30  M52x1.5 8 914 40 100 40 6 17-M24 22 110 72

37T EE AT BATUH B R ER R 5
Vertical and vertical horizontal stationary

power chuck

1 EARIR ~ SEIEETE -
2. VAR PEHBEREEFERAE - IMRIAXRE - EH
SIEANIN T ITAE -

238

131.5

s
Bi

L A5 (8") A5 (8"
DV Fig-1
Bl : mm
DV-6 @115 104 /78.5 1900/ 1400 20 20 12 V-206
DV-8 @155 187 /148.6 3600 / 2800 21 20 21 V-208, V-210, V-212
DN-8 @155 148.6 / 148.6 2800 / 2800 17 20 28.5 N-208

B
R~
DV-6 @220 168 140 55 @200 49 16 655 55 104.78 12-M10x15L 38 45 18 -2 PT1/4" 7.6 2-@15 M16xP2.0 Fig-1

DV-8 290 210 170 70 242 58 24 86 55 13335 12-M12x16L 23 65 20 -1 PT1/4" 55 2-16 M16xP2.0 Fig-1
DN-8 293 213 170 70 242 52 24 100 5.5 133.35 12-M12x18L 325 745 30.4 134 PT1/4" 16 4-17 M60xP2.0 Fig-2



Sirong

AUTO

Az
R 1B

V-212RA6
V-212RA8
V-212RA11
V-215RA8
V-215RA11
V-215RA15
V-218RA8
V-218RA11
V-218RA15
V-221RA8
V-221RA11
V-221RA15
V-224RA8
V-224RA11
V-224RA15
V-232RA11(41)
V-232RA15
V-232RA20
VIT-212RA8
VIT-218RA11
VIT-224RA11
VIT-224RA15
VIT-232RA11
VIT-232RA15

=
i

A A B B DB B OO W OOOWOLWOLWWWW W WLW W W W W

EL
1312

(mm)

30
30
30
35
35
35
35
35
35
35
35
35
35
35
35
35
35
35
30
35
35
35
35
35

miTie J\ASEH

16
16
16
18.7
18.7
18.7
18.7
18.7
18.7
16
16
16
16
16
16
18.7
18.7
18.7

18.7
18.7
18.7
18.7
18.7

#17]

(kgf)
5302
5302
5302
9585
9585
9585
9585
9585
9585
9075
9075
9075
9075
9075
9075
9585
9585
9585
5302
9585
9075
9075
9585
9585

B®X
By

)
(kah)

14276
14276
14276
25798
25798
25798
25798
25798
25798
28450
28450
28450
28450
28450
28450
25798
25798
25798
14276
25798
28450
28450
25798
25798

Non through-hole power chuck for
vertical lathe (adapter included)
1. REFEBEEMENERE -

2. BRARIRERER -

BAER B8 gg BUE g e
BEDOBR w0 mEE Bm
35.7 3000 67.7 0.774 MS150C HJ12-1
35.7 3000 65.6 0.764 MS150C HJ12-1
35.7 3000 741 0.902 MS150C HJ12-1
35.7 2800 120.4 2.146 MS200C HJ15-1
35.7 2800 113.4 2.016 MS200C HJ15-1
35.7 2800 133 2.572 MS200C HJ15-1
35.7 2300 144.5 3.507 MS200C HJ15-1
35.7 2300 137.5 3.43 MS200C HJ15-1
35.7 2300 157.5 3.945 MS200C HJ15-1
33.7 1940 198 6.46 MS200C HJ24-1
33.7 1940 190 6.35 MS200C HJ24-1
33.7 1940 184 6.28 MS200C HJ24-1
33.7 1760 240 10.54 MS200C HJ24-1
33.7 1760 233 10.44 MS200C HJ24-1
33.7 1760 227 10.36 MS200C HJ24-1
35.7 1060 399 31.6 MS200C HJ24-1
35.7 1060 383 30.82 MS200C HJ24-1
35.7 1060 419 32.69 MS200C HJ24-1
35.7 2500 68 0.792 MS150C HJ12-1
35.7 2000 141.5 3.522 MS200C HJ15-1
33.7 1520 255 11.3 MS200C HJ24-1
33.7 1520 240 11.02 MS200C HJ24-1
35.7 920 414 32.68 MS200C HJ24-1
35.7 920 399 32.4 MS200C HJ24-1

PN
EM
HC12-1
HC12-1
HC12-1
HC15-1
HC15-1
HC15-1
HC15-1
HC15-1
HC15-1
HC24-1
HC24-1
HC24-1
HC24-1
HC24-1
HC24-1
HC32-1
HC32-1
HC32-1
HC12-1
HC15-1
HC24-1
HC24-1
HC32-1
HC32-1

B : mm

NI FF
#E

(mm)
032-0304
032-0304
@32-0304
068-0381
068-0381
068-0381
@78-0450
@78-0450
@78-0450
065-0530
065-0530
©65-0530

0152-0610
0152-0610
@152-0610
100-0810
@100-0810
©100-0810
045-0304
078-0450
@152-0610
0152-0610
@100-0810
©100-0810

R 3
V-212RA6
V-212RA8

V-212RA11
V-215RA8
V-215RA11
V-215RA15
V-218RA8
V-218RA11
V-218RA15
V-221RA8
V-221RA11
V-221RA15
V-224RA8
V-224RA11
V-224RA15

V-232RA15

V-232RA20

VIT-212RA8
VIT-218RA11
VIT-224RA11
VIT-224RA15
VIT-232RA11
VIT-232RA15

C
AB(HS)DE F G

H

J KN O

max. max.

15°=\/-212R~V-218R
30°=V-221R-V-232R 37 | 2

O PPaoRrRsT U

min. max.min.

-212R~V-218R Serration Pitch 1.5
-221R~V-232R Serration Pitch 3.0 VIT-212R

Z1(H12)

| =
{oa]
1

o]

C VIT-2218~
VIT-232R

Vv WX Y Z 71

304 125 220 30 25 106.375171.45 133.35 18 6-M16 6 64

304 118 220 30 18 139.719 190

171.45

304 150 220 30 50 196.869 171.45 235

381 141 300 43 33 139.719 235
381 130 300 43 22 196.869 260
381 165 300 43 57 285.775 235
450 141 300 43 33 139.719 235
450 130 300 43 22 196.869 260
450 165 300 43 57 285.775 235

171.45
235
330.2
171.45
235
330.2

530 154 380 60 33 139.719 330.2 171.45
530 148 380 60 27 196.869 330.2 235
530 148 380 60 27 285.775 330.2 330.2
610 154 380 60 33 139.719 330.2 171.45
610 148 380 60 27 196.869 330.2 235
610 148 380 60 27 285.775 330.2 330.2
V-232RA11(41) 810 170 380 80 41 196.869 330.2 235

810 156 380 80 27 285.775 330.2 330.2
810 187 520 80 58 412.775 330.2 463.6

304 118 220 30 18 139.719 190
450 130 300 43 22 196.869 260

171.45
235

610 162 380 60 41 196.869 330.2 235
610 148 380 60 27 285.775 330.2 330.2
810 170 380 80 41 196.869 330.2 235
810 156 380 80 27 285.775 330.2 330.2

24 6-M16 6
28 6-M16 6

64
64

45.75 1275138108 5.5 18 36
45.7512.75 1451155.5 18 36
45.75 1275113 83 5.5 18 36

50 M20x2.5 6-M12 50 54.5 130
50 M20x2.5 3-M8 50 54.5 130
50 M20x2.5 6-M20 50 54.5 130

24 6-M20 6 78
32 6-M20 6 78
29 6-M20 6 78
24 6-M20 6 92
32 6-M20 6 92 70.75 24.25
29 6-M20 6 92 70.7524.25
24 6-M24 6 87 935 275
30 6-M24 6 87 935 275
33 6-M24 6 87 935 275
24 6-M24 6 126.5 93.5 275
30 6-M24 6 126.5 93.5 27.5
33 6-M24 6 126.5 935 275
30 6-M24 6 104.8 196.5 25.5
33 6-M24 6 104.8 196.5 25.5
35 6-M24 6 104.8 196.5 25.5
24 4-M16 6 64 45.7512.75
32 4-M20 6 92 70.75 24.25
30 8-M24 6 126.5 935 275
33 8-M24 6 126.5 93.5 275
30 8-M24 6 104.8 196.5 25.5
33 8-M24 6 104.8 196.5 25.5

49.75 24.25
49.75 24.25
49.75 24.25
70.75 24.25

71
82
47
59
70
35
64
70
70
64
70
70
47
47
16

36 5.525.555
47 5525555
12 5525555
24 5525555
35 5.525.555
0 5525555
29 25 55
35 25 55
35 25 55
29 25 55
35 25 55
35 25 55
12 25 56
12 25 55
=iI¢) 25 55

g o o0 © © © © ©O ©

14511555 18 36

70
70
70
47
47

35 5.525.555
35 25 56
35 25 55
12 25 56
12 25 55

o o © ©

62 M30x3.5 6-M16 60 66.5 165 — —
62 M30x3.5 3-M10 60 66.5 165 — —
62 M30x3.5 6-M24 60 66.5 165 — —
62 M30x3.5 6-M16 60 66.5 165 158 22
62 M30x3.5 3-M10 60 66.5 165 158 22
62 M30x3.5 6-M24 60 66.5 165 158 22
64 M30x3.5 9-M16 60 77 180 155 22
64 M30x3.5 6-M20 60 77 180 155 22
64 M30x3.5 3-M12 60 77 180 155 22
64 M30x3.5 9-M16 60 77 180 165.122
64 M30x3.5 6-M20 60 77 180 165.122
64 M30x3.5 3-M12 60 77 180 165.122
74 M30x3.5 6-M20 60 93 210 165.1 22
74 M30x3.5 3-M12 60 93 210 165.1 22
74 M30x3.5 6-M24 60 93 210 165.1 22
50 M20x2.5 4-M8 50 545130 — —
62 M30x3.5 4-M10 60 66.5 165 158 22
64 M30x3.5 6-M20 60 77 180 165.122
64 M30x3.5 4-M12 60 77 180 165.1 22
74 M30x3.5 6-M20 60 93 210 200 22
74 M30x3.5 4-M12 60 93 210 200 22

88{i] : mm
2Z8
Fig2
Fig1
Fig3
Fig2
Fig1
Fig3
Fig2
Fig1
Fig3
Fig2
Fig2
Fig1
Fig2
Fig2
Fig1
Fig2
Fig1
Fig3
Fig1
Fig1
Fig2
Fig1
Fig2
Fig1



- AUTO
strona@ A STRONGHOLD BY PRECISION AND POWER.

V-300RA
ST P BN (SIEEHR)

Non through-hole power chuck for
vertical lathe (adapter included)

1 BRARIAERER -
2. 5t IE R B ERE AR P 7K BT -

#J:4V-312R~V-318R Serration Pitch 1.5 VIT-312R
P HE#V-321R~V-332R Serration Pitch 3.0 e

15"=V-312R~V-318R
30°=V-321R~V-332R

P mm &4t + mm
L B
omBEY S W E YT R R B W

V-312RA8 3 30 16 5302 14276 35.7 3000 71 0.773 MS150C HJ12-1 HC12-1 @32-0304 V-312RA8 304 138 220 30 38 139.719 190 171.45 24 6-M16 6 64 45.7512.7514511555 18 36 50 M20x2.5 3-M8 50 545130 — — Fig1
V-315RA8 3 35 18.7 9585 25798 35.7 2800 131 2.24 MS200C HJ15-1 HC15-1 068-0381 V-315RA8 381 160 300 43 52 139.719 235 171.45 24 6-M20 6 78 49.75 2425 82 47 5525555 62 M30x3.5 6-M16 60 66.5 165 — — Fig2
V-315RA11 3 35 18.7 9585 25798 35.7 2800 128 2.23 MS200C HJ15-1 HC15-1 068-0381 V-315RA11 381 160 300 43 52 196.869 260 235 32 6-M20 6 78 49.7524.25 82 47 5.525.555 62 M30x3.5 3-M10 60 66.5 165 — — Fig1
V-315RA15 3] 35 18.7 9585 25798 35.7 2800 140 2.64 MS200C HJ15-1 HC15-1 268-0381 V-315RA15 381 165 300 43 57 285.775 235 330.2 29 6-M20 6 78 49.752425 77 42 5525555 62 M30x3.5 6-M24 60 66.5 165 — — Fig3
V-318RA8 3 35 18.7 9585 25798 35.7 2300 157 3.68 MS200C HJ15-1 HC15-1 @78-03450 V-318RA8 450 160 300 43 52 138.719 235 171.45 24 6-M20 6 92 70.75 2425 82 47 5525555 62 M30x3.5 6-M16 60 66.5 165 158 22 Fig2
V-318RA11 3 35 18.7 9585 25798 35.7 2300 155 3.66 MS200C HJ15-1 HC15-1 @78-0450 V-318RA11 450 160 300 43 52 196.869 260 235 32 6-M20 6 92 70.75 24.25 82 47 5.525.555 62 M30x3.5 3-M10 60 66.5 165 158 22 Fig1
V-318RA15 3 35 18.7 9585 25798 35.7 2300 167 4.07 MS200C HJ15-1 HC15-1 @78-0450 V-318RA15 450 165 300 43 57 285.775 235 330.2 29 6-M20 6 92 70.7524.25 77 42 5525555 62 M30x3.5 6-M24 60 66.5 165 158 22 Fig3
V-321RA11 3 35 16 9075 28450 33.7 1940 212 6.73 MS200C HJ24-1 HC24-1 @65-0530 V-321RA11 530 173 380 60 52 196.869 330.2 235 30 6-M24 6 87 935 275 82 47 9 25 55 64 M30x3.5 6-M20 60 77 180 155 22 Fig2
V-321RA15 3 35 16 9075 28450 33.7 1940 210 6.75 MS200C HJ24-1 HC24-1 @65-0530 V-321RA15 530 178 380 60 57 285.775 330.2 3302 33 6-M24 6 87 935 275 77 42 9 25 55 64 M30x3.5 3-M12 60 77 180 155 22 Fig1
V-324RA11 3] 35 16 9075 28450 3374 1760 257 10.83 MS200C HJ24-1 HC24-1 @152-0610 V-324RA11 610 173 380 60 52 196.869 330.2 235 30 6-M24 6 126.5 93.5 275 82 47 9 25 55 64 M30x3.5 6-M20 60 77 180 165.1 22 Fig2
V-324RA15 3 35 16 9075 28450 33.7 1760 255 10.85 MS200C HJ24-1 HC24-1 @152-0610 V-324RA15 610 178 380 60 57 285.775 330.2 330.2 33 6-M24 6 126.5 93.5 275 77 42 9 25 55 64 M30x3.5 3-M12 60 77 180 165.1 22 Fig1
V-332RA11 3 35 18.7 9585 25798 35.7 1060 399 30.17 MS200C HJ24-1 HC32-1 @100-@810 V-332RA11 810 181 380 80 52 196.869 330.2 235 30 6-M24 6 104.8196.5 255 82 47 5 25 55 74 M30x3.5 6-M20 60 93 210 165.1 22 Fig2
V-332RA15 3 35 18.7 9585 25798 35.7 1060 397 30.19 MS200C HJ24-1 HC32-1 @100-0810 V-332RA15 810 186 380 80 57 285.775 330.2 330.2 33 6-M24 6 104.8 196.5 255 77 42 5 25 55 74 M30x3.5 3-M12 60 93 210 165.1 22 Fig1
VIT-312RA8 4 30 16 5302 14276 35.7 2500 78 0.78 MS150C HJ12-1 HC12-1 @45-0304 VIT-312RA8 304 138 220 30 38 139.719 190 171.45 24 4-M16 6 64 45.7512.751451155.5 18 36 50 M20x2.5 4-M8 50 545130 — — Fig1
VIT-318RA11 4 35 18.7 9585 25798 35.7 2000 158 3.74 MS200C HJ15-1 HC15-1 @78-0450 VIT-318RA11 450 160 300 43 52 196.869 260 235 32 4-M20 6 92 70.7524.25 82 47 5.525.555 62 M30x3.5 4-M10 60 66.5 165 158 22 Fig1
VIT-324RA11 4 35 18.7 9075 28450 3374 1520 268 11.47 MS200C HJ24-1 HC24-1 @152-0610 VIT-324RA11 610 173 380 60 52 196.869 330.2 235 30 8-M24 6 126.5 93.5 275 82 47 9 25 55 64 M30x3.5 6-M20 60 77 180 165.1 22 Fig2
VIT-324RA15 4 35 18.7 9075 28450 33.7 1520 267 11.49 MS200C HJ24-1 HC24-1 @152-0610 VIT-324RA15 610 178 380 60 57 285.775 330.2 330.2 33 8-M24 6 126.5 93.5 275 77 42 9 25 55 64 M30x3.5 4-M12 60 77 180 165.1 22 Fig1
VIT-332RA11 4 35 18.7 9585 25798 35.7 920 427 32.85 MS200C HJ24-1 HC32-1 @100-@810 VIT-332RA11 810 181 380 80 52 196.869 330.2 235 30 8-M24 6 104.8196.5 255 82 47 5 25 55 74 M30x3.5 6-M20 60 93 210 200 22 Fig2
VIT-332RA15 4 35 18.7 9585 25798 35.7 920 425 32.87 MS200C HJ24-1 HC32-1 ©@100-0810 VIT-332RA15 810 186 380 80 57 285.775 330.2 330.2 33 8-M24 6 104.8196.5 255 77 42 5 25 55 74 M30x3.5 4-M12 60 93 210 200 22 Fig1



AUTO

Sirong

A STRONGHOLD BY PRECISION AND POWER.

SR
Collet chuck for cylindrical center mount
1. RO RIFIRENLEEES - BRAKNC/CNCERINIEM -

EEYYE
Collet chuck for short taper mount
1. BB O] IREIFENLEAEES - SEFAFINC/CNCEERIN T 41 -

& =
R 1%

CR42-140
CR52-170
CR60-170
CR60-220
CR80-220

R~

CR42-140
CR52-170
CR60-170
CR60-220
CR80-220

KiFEE
CHUCK

NO.
CR42
CR52
CR60
CR80

2. BMEEEHREEE A IETERMER -
3. MR TIEMM B R T RIEZEFESEK

.

P D
R
N L Clamping position T
. 1
L[ /'4=;l_l )
=wi =
K
SEEEEEES - F,r=g
| |
= 7
wllo] A T

B : mm

140
170
170
220
220

155 114 100
185 138 130
185 139 130
235 141 130
235 167 156

23 104.78
30 133.35
30 133.35
32 171.45
32 171.45

NN NN

140
170
170
220
220

CatNo./O /0O /0O
M-673 /42/36/30

- =/ —=1—=
M-677 /60/52/42
J-660 /80/69/56

*E R ERFEDING3435 &

CatNo. /O/0 /0
173E/4728 / 42/ 36 / 30
177E  /52/45/36
185E/4291 /60 /52 / 42
193E/H-47 /80 /69 /56

M66xP1.5
M90xP1.5
M90xP1.5
M90xP1.5
M114xP2.0

- Spring Collet -

25(2549)
30(3059)
30(3059)
30(3059)
35(3568)

55(5608)
65(6628)
65(6628)
65(6628)
73(7443)

M55xP2.0 25
M60xP2.0 30
M74xP2.0 30
M74xP2.0 30
M90xP2.0

18
18

o O O O O

6000
5000
5000
5000
4000

11.9
17.9
17.9
ii9lY
23.4

- Multi-Bore Collet -

3-M10
6-M12
6-M12
6-M16
6-M16

6.2
125
11.5
15.5
19.5

3.1
3.1
3.1
3.1
6.1

B
P D
i \ Clamping position T_,
+_—_j_t TEe==F o
=N
K
S8 80 F o =
Y|
md |
1P -
i

2. BV RS HBRERBE AL IE T IERMESR -
3. MR TR R R T RIEZEZFBSHIEK -

B : mm

R 1
CR26A4 A2-4 26 5 20(2039) 44(4486) 7000 45
CR30A4 A2-4 30 5 20(2039) 44(4486) 7000 4.1
CR42A5 A25 42 7 25(2549) 55(5608) 6000 6.2
CR42A6 A2-6 42 7 25(2549) 55(5608) 6000 8.2
CR52A6 A2-6 52 7 30(3059) 65(6628) 5000 12.2
CR60A6 A2-6 60 7 30(3059) 65(6628) 5000 13
CR80A8  A2-8 80 7 35(3568) 73(7443) 4000 21

B 5

R
CR26A4 112 103.5 85 30 82.55 63.513 M50xP1.5 45 M40xP1.5 15 21.7 3-M10 2.3
CR30A4 112 103.5 85 30 82.55 63.513 M50xP1.5 45 M40xP1.5 15 21.7 3-M10 218
CR42A5 135 127 100 27 104.78 82.563 M66xP1.5 60 M55xP2.0 25 30.9 4-M10 3.1
CR42A6 170 127 100 32 133.35 106.375 M66xP1.5 66 M60xP2.0 22 30.9 4-M12 3.1
CR52A6 170 144 130 27 133.35 106.375 M90xP1.5 66.7 M60xP2.0 30 29.9 4-M12 3.1
CR60A6 170 145 130 27 133.35 106.375 M90xP1.5 80 M74xP2.0 30 29.9 4-M12 3.1
CR80A8 220 170 156 35 171.45 139.719 M114xP2.0 99 M90xP2.0 27.5 32.4 6-M16 6.1
CHUCK

NO. CatNo./O /O /O CatNo. /O/O /O

CR26 M-667 /26 /22 /18 161E/8744 /26 /22 /18

CR30 M-669 /30/26/21 163E/4249/30/26 /21

CR42 M-673 /42 /36 /30 173E/4728 /42 /36 /30

CR52 - =1 —=1— 177E /52 /45/36

CR60 M-677 /60 /52 /42 185E/4291 /60 /52 /42

CR80 J-660 /80/69/56 193E/H-47/80/69 /56

*E AR ERADING3435 &

- Spring Collet -

- Multi-Bore Collet -



- AUTO
strona@ A STRONGHOLD BY PRECISION AND POWER.

Al B1

J1 J1 R X L z
' PUL

—
= o 22 1 4 3 R ma | ===

| Y I , "W a 4 TT = [
High speed through-hole rotary g2 St elgafz 2@ A ] 2
hydraulic cylinder s\l : B & 13 o b s
1RES : hEFHNRRE - BRINE(MAX 95mm | 1

#4E) - BEE(MAX 4.5kgiREEL) - EEREERI AL :

EET  EREHINERE - * | 3
2. BAMEEL : LENENEROERE20%NE i — i

B, TTEHRE T IHER - ; 2 I =
3. REWIE : HILERMRRRFIE IS - — "y

BE{i7 : mm

mames
R~

M0926 9 108 25 8-M6x10 6-M8x15 110 76 58 44 15 30 53 4 4-M4x7 5 PT1/4" 6 116 M34x1.5 32 15
M0928 9 108 25 8-M6x10 6-M8x15 110 76 58 44 15 34 53 4 4-M4x7 5 PT1/4" 6 116 M34x1.5 32 15
M1036 11 1205 25 6-M5x10 6-M10x17 126 88 68 53 15 38 64 4 6-M5x12 5 PT3/8" 6 136 M44x1.5 42 14
M1038 11 1205 25 6-M5x10 6-M10x17 126 88 68 53 15 40 64 4 6-M5x12 5 PT3/8" 6 136 M44x1.5 42 14
M1236 11 1265 25 6-M6x12 12-M10x20 135 98 76 47 15 38 76 4 4-M5x12 6 PT1/2" 6 169 M52x1.5 50 14
M1246 11 1265 30 6-M6x12 12-M10x20 135 98 76 47 15 50 76 4 4-M5x12 6 PT1/2" 6 169 M52x1.5 50 14
M1546 11 1335 30 6-M6x12 12-M10x20 145 110 86 47 15 50 85 4 4-M6x12 7 PT1/2" 6 188 M58x1.5 56 13.5
M1552 11 1335 30 6-M6x12 12-M10x20 145 110 86 47 15 55 85 4 4-M6x12 7 PT1/2" 6 188 M58x1.5 56 13.5
M1768 17.5 1525 35 6-M6x12 12-M10x20 166 155 101 47 15 70 108 4 4-Méx12 7.5 PT1/2" 6 215 M84x2 81 125
M1870 17.5 1525 35 6-M6x12 12-M10x20 166 155 101 47 15 75 108 4 4-Mé6x12 7.5 PT1/2" 6 215 M84x2 81 125
M1875 175 1525 35 6-M6x12 12-M10x20 166 155 101 47 15 80 108 4 4-Mé6x12 7.5 PT1/2" 6 215 M84x2 81 125
M1878 175 1525 35 6-M6x12 12-M10x20 166 155 101 47 20 82 108 4 4-Méx12 7.5 PT1/2" 6 215 M84x2 81 125
M2078 21 166.5 35 6-M6x12 12-M12x24 182 165 110 47 20 84 120 4 4-M6x12 7 PT1/2" 6 240 M99x2 96 20
M2085 21 166.5 35 6-M6x12 12-M12x24 182 165 110 47 20 89 120 4 4-M6x12 7 PT1/2" 6 240 M99x2 96 13
M2091 21 166.5 35 6-M6x12 12-M12x24 182 165 110 47 15 95 120 4 4-Mé6x12 7 PT1/2" 6 240 M99x2 96 13
B : mm M2511S 21 169.5 45 6-M6x12 12-M16x32 192 206 132 55 20 123 160 5 4-Méx12 7 PT1/2" 6 294 — 1346 —

B
18

B
M0926 90 53.2/48.3 19.9(2029) / 18(1835) 10 4.0(40.8) 8000 0.006 5.7 3.0 R <t

M0928 90 53.2/48.3 19.9(2029) / 18(1835) 10 4.0(40.8) 8000 0.006 5.5 3.0 M0926 120 100 80 65 44 M34x15 26 25 63 44 59 76 90 105 151 14 4 35 25 3 5
M1036 105 71/68.5 26(2651) / 25(2549) 15 4.0(40.8) 8000 0.011 8.6 3.0 M0928 120 100 80 65 44 M38x1.5 28 25 63 44 59 76 90 105 151 14 4 35 25 3 5
M1038 105 711766 26(2651) / 24.5(2498) 15 4.0(40.8) 8000 0.011 8.5 3.0 M1036 136 115 100 65 48 M42x15 36 32 71 55 73 88 104 115 1745 15 0 39 24 25 5
M1236 125 100/89 38(3875) / 33(3365) 15 4.0(40.8) 7000 0.019 13 3.0 M1038 136 115 100 65 50 M44x15 38 32 71 55 73 88 104 115 1745 15 0 39 24 25 5
M1246 125 100 /89 38(3875) / 33(3365) 15 4.0(40.8) 7000 0.019 12 3.0 M1236 155 130 100 80 65 M42x15 36 36 76 64 8 98 118 114 179 15 0 40 25 5
M1546 155 161 /154 60(6118) / 57.8(5894) 22 4.0(40.8) 6200 0.056 18 3.9 M1246 155 130 100 80 65 M55x2 46 36 76 64 8 98 118 114 179 15 0 40 25 4 5
M1552 155 161 /150 60(6118) / 56(5710) 22 4.0(40.8) 6200 0.052 16.8 3.9 M1546 190 170 130 85 65 M55x2 46 36 84 73 96 114 137 130 1905 22 0 475 255 35 5
M1768 175 184 /183 69.3(7067) / 69(7036) 25 4.0(40.8) 4700 0.096 27.5 4.2 M1552 190 170 130 85 70 MeOx2 52 36 84 73 96 114 137 130 190.5 22 0 475 255 35 5
M1870 180 198 /183 74(7546) / 69(7036) 25 4.0(40.8) 4700 0.095 26.5 4.2 M1768 215 190 160 120 85 M75x2 68 36 95 98 121 140 165 159 225 25 0 50 25 3 5
M1875 180 198 /183 74(7546) / 69(7036) 25 4.0(40.8) 4700 0.095 26 4.2 M1870 215 190 160 120 95 M782 70 36 95 98 121 140 165 159 225 25 0 50 25 3 5
M1878 180 198 /183 74(7546) / 69(7036) 25 4.0(40.8) 4700 0.095 25.5 4.2 M1875 215 190 160 120 95 M85x2 75 36 95 98 121 140 165 159 225 25 0 50 25 3 5
M2078 205 262 /234 98(9993) / 88(8973) 23 4.0(40.8) 3800 0.15 36.5 4.5 M1878 215 190 160 120 95 M87x2 78 36 95 98 121 140 165 159 225 25 0 50 25 3 5
M2085 205 252 /234 94(9585) / 88(8973) 30 4.0(40.8) 3800 0.15 37.5 4.5 M2078 240 215 180 140 110 M9Ox2 78 36 104 108 138 158 182 177 248 23 0 55 32 3 5
M2091 205 252 /234 94(9585) / 88(8973) 30 4.0(40.8) 3800 0.15 37 4.5 M2085 240 215 180 140 110 M93x2 85 36 104 108 138 158 182 177 248 30 0 B 2 3 5
M2511S 250 348 / 336 124(12644) / 120(12236) 23 4.0(40.8) 2800 0.41 53 7.0 M2091 240 215 180 140 110 M100x2 91 36 104 108 138 158 182 177 248 30 0 55 25 3 5
M2511S 310 275 230 166 140 M130x2 1175 36 101 148 178 190 232 215 258 24 1 38 15 3 6



= ===
- AUTO =
stfona A STRONGHOLD BY PRECISION AND POWER.
MK
85 £ 8 op 2= 8 8 i [BR
Super high speed through-hole compact
rotary hydraulic cylinder w U v
1NVEEE  REME30%  SERBRNMEEERE - REEH e e
mas - - Sh
2. RREE - WHHEIERIHIE - RREEEER - BAHIARS - ===
3.HEK > REBTHEHNBHESS - A
[,z .-
gi_l.li c1 | B Busess
A
BT EE "
] .
Ll F1
-
A S .1 E—
K1

ME1775 - MK1881

B8] : mm
B
R ~t
MK1246 85 795 25 M6x10 12-M10x20 84 98 76 47 15 50 76 4 M5x6 9 PT38 12 165 M52x1.5 50 15 M8
MK1246F 85 895 30 M6x10 6-M10x20 94 98 76 47 15 50 76 4 M5x6 9 PT38 8 165 M52x1.5 50 15 M8
MK1452 9 88 30 Mex12 12-M10x20 93 110 86 47 15 55 85 4 Méex6 16 PT3/8 12 184 M58x1.5 56 12 M8
MK1452F 9 95 30 Méx12 6-M10x20 100 110 86 47 15 55 85 4 Mex6 16 PT3/8 8 184 M58x1.5 56 15 M8
MK1768 175 99 30 Méx12 12-M10x20 110 155 100 47 15 70 108 4 Méx10 7 PT1/2 12 216 M84x2.0 81 18 M10
MK1775 175 99 30 Méx12 12-M10x20 110 155 100 47 15 80 108 4 Méx10 7 PT1/2 12 216 M84x2.0 81 18 M10
MK1778 175 99 30 Méx12 12-M10x20 110 155 100 47 15 82 108 4 Mé6x10 7 PT1/2 12 216 M84x2.0 81 18 M10
MK1881 17 106 35 Mé6x12 12-M10x20 115 166 105 47 15 85 113 4 Méx10 16.5 PT1/2 12 226 M89x2.0 86 19 M10
Bfi1 : mm
A
MK1246 128 102.6/91.4 43.6(4466) / 38.9(3967) 16 4.5(45.9) 8000 0.017 8.6 3.1 MK1246 162 147 147 130 75 65 M55x2.0 46 40 58 64 85 116 120 120 13 -3 44 28 8
MK1246F 128 102.6 /91.4 43.6(4466) / 38.9(3967) 16 4.5(45.9) 8000 0.018 9.2 &1 MK1246F 162 130 147 100 75 65 M55x2.0 46 40 68 64 8 116 120 130 14 -2 44 28 5
MK1452 145 133/122.6 56.5(5761) / 52.1(5313) 22 4.5(45.9) 6500 0.028 12 3.9 MK1452 184 165 165 140 80 70 M60x2.0 52 40 66 73 96 135 130 130 19 -3 535 315 8
MK1452F 145 133/122.6 56.5(5761) / 52.1(5313) 22 4.5(45.9) 6500 0.029 12,5 3.9 MK1452F 186 170 165 130 80 70 M60x2.0 52 40 73 73 96 135 130 137 21 -1 535 315 5
MK1768 170 166 /152 70.7(7209) / 64.7(6597) 25 4.5(45.9) 5500 0.065 19.4 4.5 MK1768 212 195 195 160 105 95 M75x2.0 68 46 71 98 121 164 160 157 22 -3 50 25 8
MK1775 170 166 / 152 70.7(7209) / 64.7(6597) 25 4.5(45.9) 5500 0.060 17.8 4.5 MK1775 212 195 195 160 105 95 M85x2.0 75 46 71 98 121 164 160 157 22 -3 50 25 8
MK1778 170 166 /152 70.7(7209) / 64.7(6597) 25 4.5(45.9) 5500 0.059 17.4 4.5 MK1778 212 195 195 160 105 95 M87x2.0 78 46 71 98 121 164 160 157 22 -3 50 25 8
MK1881 180 187 /171.9 79.5(8107) / 73.1(7454) 25 4.5(45.9) 4800 0.087 24 4.5 MK1881 222 205 205 168 110 100 M90x2.0 81 46 71 103 126 175 175 167 23 -2 58 33 8



AUTO

A
strona@ A STRONGHOLD BY PRECISION AND POWER.

CM.B
e TIE DS

Hydraulic cylinder coolant collector

1. T REITEEREKERHKEU -
2. EEFABAESE -

Fig-1 Fig-2

Q1

\ i
| s
oK1 1.5 c
D

PT'M"_

(7 mm
B
R
CM09B 825 30 35 71.5 106 555 77 43 5 47.5 17.5 30 67 90 105 PT34" 76 44 4-M4 Fig2 M0926, M0928 0.85
CM10B1 825 40 35 715 106 555 77 52 5 47.5 175 380 75 — 105 PT3/4" 88 44 6M5 Figl M1036,M1038 1.0
CM12B 1175 48 42 855 142 74 107 61 5 60.5 175 30 87 — 130 PT1" 98 47 4M5 Figl \iiaag mvaden 1-6
CM15B8 1175 55 42 855 142 74 107 67 5 605 175 30 98 — 130 PT1" 110 47 4Me Figt MI%6MISS2 46
CM18B 155 80 425 865 184 94 147 92 5 585 175 30 123 — 150 PT1" 155 47 4Me Figt MI/E8MIB7S. 5,
CM18BK 155 80 425 865 184 94 147 97 5 605 195 30 126 175 150 PT1" 166 47 4M6 Fig2  MKI881 20
CM20B 155 95 425 865 184 94 147 106 5 60.5 175 30 140 — 150 PT1" 165 47 4-M6 Figi 20 g M2085, 5
CM25B 200 120 44 89.5 230 117 192 — 12 60 21 27 179 — 180 PT1" 206 47 4-Mé Figl  M2511S 24

CM28B 254 170 52 103 285 147 240 182 8 745 20.5 20 222.6 278 260 PT 1-1/4" 256 85 4-M6 Fig2 ML2814, ML2816 4.2
CM33B 300 208 52 101.5 330 — 285 222 8 745 205 20 262.6 328 259 PT1-1/4" 308 70 4-M6 Fig2 ML3320 7.2

ML-CM.B
@A AT

Extra large through-hole rotary hydraulic
cylinder

1. BARAHEMERRERE=EA -

2. ERABKREEGEME  BESERFHIEMEN -
3. A LRSI RIE DRSS -

4. BARBEILRET - BEREKERTERNEKE -

5. EMAIZFRA KRR KRS -

Al B

7
PT138" | 1 S PT1A8"

i}

e 239
B : mm

2l 5

R B
ML2814CM28B 285 394 / 350 116.8(11910) / 106.8(10584) 42 3.3(33.6) 2000 1.08 87 9
ML2816CM28B 285 394 / 350 116.8(11910) / 106.8(10584) 42 3.3(33.6) 2000 0.90 72 9
ML3320CM33B 335 515.7/416.9 152.9(15591) / 136.9(13960) 42 3.3(33.6) 1600 1.09 103 10

B

R ~f

ML2814CM28B 335 280 240 190 M158x3.0 145 140 382 260 279 41 -1 67 25 18 202 M16x32L 150
ML2816CM28B 335 280 240 190 M180x3.0 166.5 140 382 260 279 41 =l 67 25 18 202 M16x32L 170
ML3320CM33B 390 320 280 230 M215x3.0 205 147 392 260 292 41 -1 67 25 18 210 M20x32L 210



A STRONGHOLD BY PRECISION AND POWER.

MM
A AR Y P 2 A T

High speed and compact through-hole
rotary hydraulic cylinder

Sirong
MS

BEEHEL (SFLER)

Non through-hole rotary hydraulic
cylinder (valve included)

1. EBEEH - BREVRE REXTHMAH  SEEBRMEERTE - - PEEELERG o
2. REWEAMEILRAWE - BREFEEHRENIERE -
ERTEE
K P
W U y L = M 5
9 B1 i L 5 U
2.PT1/4" 2-M5x10 CalE
- / L ] J
- o e e P
N / aa__|_|_1I— C1 - r ‘\Ejm | / Ol w = g &)
o 2L A/’Lﬁ\ _ T o g e o 1T Ea s SN N - \ "_@‘@Lgéi =l
o T > W b :]I S g (SIS 4@3_ |- e S
IS8 < =
- e \H
= I AT |1 S—
Wi i \H 7
i | i i & PT1/4" g-
PT 3/8" E R Q.

(MM1775B PT1/2")

B{i1 - mm Bl : mm

MMO0933B 90 50.3/47 19.1(1947) / 17.8(1815) 10 4.0(40.8) 8000 0.012 5.9 0.8 MS105 105 86/79 32(3263) / 29(2957) 20 4.0(40.8) 6000 0.0125 71 0.8

MM1036B 100 64 /60 23.8(2427) / 22.3(2274) 5] 4.0(40.8) 8000 0.013 7 0.8 MS125 125 122 /113 46(4691) / 42(4283) 25 4.0(40.8) 6000 0.0225 10 0.8
MM1036B15 100 64 /60 23.8(2427) / 22.3(2274) 15 4.0(40.8) 8000 0.014 7.4 0.8 MS150 150 176 /160 66(6730) / 60(6118) 30 4.0(40.8) 5500 0.0475 13.5 0.8

MM1246B 125 100/ 89 38(3875) / 33(3365) 15 4.0(40.8) 7000 0.027 11.8 3.0 MS200 200 314 /290 117(11930) / 108(11013) 35 4.0(40.8) 5500 0.0975 22 0.8

MM1552B 155 161 /150 60(6118) / 56(5710) 22 4.0(40.8) 6200 0.046 16 3.0

MM1775B 170 169 /154.5 63.5(6475) / 58(5914) 25 4.0(40.8) 4200 0.081 22 4.5

R~ R

MMO0933B 120 100 80 46 M40x1.533 59 90 48 152 10 0O 30 20 58 25 6-M8x15 1215 76 46 25 10 36 M4x9L M39xP1.5 5 37 MS105 135 100 80 30 21 M20x2.5 35 197 108 89 152 45 25 6-M10x20 158

MM1036B 134 115 100 48 M42x1.5 36 52 90 48 144 10 5 17 12 57 20 6-M10x15 1135 76 46 25 10 38 M4x9L M42xP1.5 2 40 MS125 160 130 110 35 25 M24x3.0 44 205 108 97 160 51 26 6-M12x24 166
MM1036B15 134 115 100 48 M42x1.5 36 66 90 48 158 15 0 30 15 57 25 6-M10x15 1275 76 46 25 15 38 M4x9L M42xP1.5 3 40 MS150 190 130 110 45 31 M30x3.5 45 214 108 106 169 56 26 12-M12x24 175

MM1246B 155 130 100 65 M55x2.0 46 76 117 61 179 15 0 40 25 59.5 30 12-M10x20 140 98 59 25 15 50 M5x6L M52xP1.5 9 50 MS200 245 145 120 55] 37 M36x4.0 60 228 108 122 183 69 34 12-M16x30 189

MM1552B 190 170 130 70 M60x2.0 52 84 135 68 189 22 0 47 25 62.5 30 12-M10x20 150 110 68 25 15 55 M6x6L M58xP1.5 9 56

MM1775B 209 190 160 95 M85x2.0 75 95 164 825208 25 0 50 25 64 35 12-M10x20 163.5 155 82.5 31 15 80 M6x10L M84xP2.0 9 81



AUTO
Stranq A STRONGHOLD BY PRECISION AND POWER.

oh & {8 55 i BR EL
(BRI ~ BHEKE)
Non through-hole rotary hydraulic cylinder

(valve and switch brackets included)

1. Mt IERE -
2. BHRERE -
3. EEMBAASRE -

ERnEE

__'1'\
-4/

© L
"
! b
SR
v v M 5
N
2-PT3/8" J
5
Noful 5 S o
B B + Q@ dial®
S B g
[ \n
Na
BE{T] : mm
MS105C 105 84/79 31 (3161) / 29 (2957) 20 4.0(40.8) 6000 0.0125 7.6 0.8
MS125C 125 120 /113 45 (4589) / 42 (4283) 25 4.0(40.8) 6000 0.022 10.5 0.8
MS125C35 125 120 /113 45 (4589) / 42 (4283) 35 4.0(40.8) 6000 0.022 10.5 0.8
MS150C 150 174 / 160 65 (6628) / 60 (6118) 30 4.0(40.8) 5500 0.047 14 0.8
MS200C 200 312/290 117 (11930) / 108 (11013) 35 4.0(40.8) 5500 0.097 225 0.8
B
R
MS105C 135 100 80 30 21 M20x2.5 35 257 168 89 152 45 25 6-M10x20 158
MS125C 160 130 110 35 25  M24x3.0 44 265 168 97 160 51 26 6-M12x24 166
MS125C35 160 130 110 35 25  M24x30 44 269 168 101 164 57 22 6-M12x24 170
MS150C 190 130 110 45 31 M30x3.5 45 274 168 106 169 56 26 12-M12x24 175
MS200C 245 145 120 55 37  M36x40 60 288 166 122 183 69 34 12-M16x30 189

- RIMRHED) : SBEESI4.0MPa (40.8 kgficm?)
- #8578 : SBEI3.0MPa (30.6 kgf/cm?) RIRE50°C
- SEHERERE - ARAEBESS 16-329-E4-Y (BALLUFF) DC 12/24V 200mA NPN

MS250C/MS300C
SEEHET (FPILRHR - MAEKE)
Non through-hole rotary hydraulic cylinder

(valve and switch brackets included)

1. EFBEAUMBEEEBUFIRG « RAIREESE -
2. TERTIRBRRIRR K ©
3. MRZFEILRARBHRECLIERBESR)

K P
12 N
M
T 5 =
a
2-PT1/2" =
oo
LA i m J
'iii' N ii : 12
\ F*BI[ 1
oF [t te— H —— - — J——— € ol e w
o — B
| 1}
L M16xP1.5

| T
‘:n-
i
@125
I
= |

Max.78
Min. 18

PT1/2"

|
o)
?

BS{i1 : mm

MS250C 250 481.5/453.6 227(23147) / 214(21822) 60 4.9(50) 2000 0.85 73 2
MS300C 300 697.5/658.6 262(26716) / 247(25186) 60 4.0(40.8) 1500 1.60 106 3

R~

MS250C 300 275 220 160 65 62 44 M42x3.0 60 349 260 170 213 85 25 6-017 6-M20x30 219 153
MS300C 355 330 270 210 75 70 50 M48x3.0 70 359 270 182 223 85 25  12-@17 12-M20x30 229 165



Siro

AUTO

nG

A STRONGHOLD BY PRECISION AND POWER.

MR12535
MR15035
MR20060
MR25060

B
R
MR12535
MR15035
MR20060

MR25060

125
150
200
250

169
202
250
300

171
204
255
305

117/107.5
171.1/156.7
310/286
481.5/453.6

150 130
130
225 145
275 220

110
110
120
160

MR

1. SEREEL

0h & e 78 2130 55 i BR £

Short type non through hole
rotary hydraulic cylinder

AT BARIAER °

2. AMEIERARTREBMKRECIIZRBAESE) -
3. RRFFOTHEIREA -

M P
T Z
[ | o
J
<l
- _\ Hojluw| &8 5lols
SIS SRS SRS
5 s

Al

49(4996) / 45(4588) 35

72(7342) / 66(6730) 35
146(14887) / 134(13664) 60
227(23147) / 214(21822) 60
35 25 M24x3.0 44 174 94
45 31 M30x3.5 45 175 95
55 37 M36x4.0 60 270 156
65 44 M42x3.0 60 280 168

4.5(45.9) 6000
4.5(45.9) 5500
4.9(50) 5500
4.9(50) 2000
PT3/8" PT1/4" 57 22
PT3/8" PT1/4" 61 26
PT1/2" PT1/2" 8 25
PT1/2" PT1/2' 85 25

0.028
0.043
0.55
0.81

6-011
6-013
6-017
6-017

6-M12
12-M12
6-M16
6-M20

9.5
12.8
49
72

162
163
255
265

BBfi] : mm

0.8
0.8
2
2
82 5
82 5
140 6
150 6

P O N (‘)’1,

MRA
o BB AT A B 6T

Short type non through-hole rotary hydraulic
cylinder with central bore for air

1. SEKSFEET BRARIIXER

2. At IERRITERENR

3. RERFTHEBIREA

4. O INEERINEE

EmnaE
MRA M P
for proximity switch . T Z
MRA - P % %‘ !
for linear positioning 1T — —
> I 5[ o
= R
J

@D2
D1
¢C
@C

F

PT 1/8"

EAERAES

Air pressuer R

Max. 0.8MPa(8kgflcm?) L

BB : mm

MRA12535 125 116 /107.5 48.5(4945) / 45(4588) 35 4.5(45.9) 6000 0.028 9.3 0.8
MRA15035 150 170.2/156.7 71.6(7301) / 66(6730) 35 4.5(45.9) 5500 0.043 12.8 0.8
2

R 1
MRA12535 169 171 150 130 110 35 25 M24x3.0 44 177 94 PT3/8” PTi1/4” 57 22 6-@Q11 6M12 165 82 5
MRA15035 202 204 180 130 110 45 31 M30x3.0 45 178 95 PT3/8” PT1/4” 61 26 6-013 12-M12 166 82 5



AUTO
Stranq A STRONGHOLD BY PRECISION AND POWER.

MRR
thEB R (EFE )

Short type non through-hole rotary hydraulic
cylinder (for rotary union)

2 B i EL
Non through-hole rotary hydraulic cylinder
1L EZ - BEY B WEBIAESSRETNR - BERZ

1. BEEERET > EARINER FRET > TTARES R T E B T -

2. Wkt IERE R TR AR 2. SEEE  WHRIZTFERFARBTLEER  ReEREHT
3. ZREFUTHEZIREA BRI 2R -

4

. EENw HREMEZHBIIAHNSHEZREAAKRENT
% TRAILHBIZSE®

CEREEEEHPOIEK IR

ERTE ERTE
MRR K
for proximity switch 11 N
MRR - P M P L1 L2
for linear positionin —j—'——
2 T Z For MH-F type ™\ ————— ——
— ;[—_____—_____—__ |
] = — S
2-PT3/8" I = |3 o N j v
_ J GO e
= N | _ _ a _ _ A Hloujlwl o i/
s | 1 HESH R ERE
© ﬁ_:f = - ] Hlolwl=8 alolo . Y —
O e = s BEwiala B N —— -
“tha \ 5 o N -
’ I o r
L |l \H - —
£ Ul U g
E_ — PT 1/4"
AN Q2 Drain Port b L / H
2-PT 3/8" .
R Pressure Port J G
L
B{i7 : mm
MH80 80 4771428 15.5(1580) / 13.9(1417) 15 3.5(35.7) 6000 0.005 5.1 0.4
MH100F 100 75.4/70.5 24.5(2498) / 22.9(2335) 20 3.5(35.7) 5500 0.013 6.7 0.4
MH125F 125 121.1 /114 39.3(4007) / 37(3773) 25 3.5(35.7) 5500 0.021 8.6 0.4
B : mm MH150F 150 176 /160 66(6730) / 60(6118) 30 4.0(40.8) 4000 0.049 10.8 0.8
g o A B oE R T owow
MRR12535 125 113/107.5 47.3(4823) 1 45(4588) 35 4.5(45.9) 6000 0.027 9.8 0.8 R =1

MH80 112 90 — 65 25 45 30 735 103  6-M8x16 — — M16x2.0x32 45 155 305 38 135 22

88.5 103 6-M10x19 6-M8x90 12 M16x2.0x32 45 155 30.5 38 135 22

6

Ty MH100F 135 100 115 80 25 45 25 6
I

6

MRR12535 169 171 150 130 110 35 25 M24x3.0 44 229 164 94 124 57 22 6-011 6-M12 130 82 50 15 5 MH150F 190 130 170 110 45 50 20 107 103 12-M12x20 8-M10x110 16 M30x3.5x40 45 155 30.5 38 135 38



AUTO

ronGg

i

A STRONGHOLD BY PRECISION AND POWER.

]

SKC

HB4
BN

58 DEIE M

MBEEERDBILE -
2. FHRRERGTRIE -

Soft jaw for strong scroll chuck

1.

i
8
&
|
w
_I_
&
g
3o
&
K
i
r

g
=
2
| =
#
IE.I
El
o

——
hiva

Boring mill jaw

170

o)
I R
O
€10 % )
@
; :
&) = |||
i -__ P
F_rll.H
Y or
o O O
~| @
OO
8-0
€0
.
mmh-
g
=
<+

80

215

BE{i7 : mm

R
R

1. EARBEEERK

mm

BT :

R
Bk

39.2 29

50

HB4-160

70

210
70
50
Stroke

0.45
15
2.7

11
19.2(4PC)

3.7
4.9

SK-4

6, KD-6"
SK-16
HB4-2P

SK
SK-7, SK-8, KD-8", KA-8"

SK-9, SK-10, KD-10", KA-10"
SK-12, KD-12", KA-12"

3.5
3.5
3.5
3.5
3.5

2.5

7.94
7.94
7.94
12.7
12.7
12.7
12.7

9.53
12.68
12.68
19.03
19.03
19.08
19.08

M6
M8
M10
M12
M12
M16
M20

21
25
34
34
38
48
66

13
13
17
21

11

14
17
19
19
25
32

11

14
17.45
28
30.75
41.9
52.9

24

38.1

44.45 25.275
54

63.5

76.2

76.2

30
37
48
48
54
70
86

19
26
31
37
40
50
59

52
73
95
110
125
160
155

SKCo04
SKC06
SKCo07
SKC09
SKC12
SKC16
HE2486

M

165

mm

vy

31

39.2

50

R
Bk

HB4-189

145
225

mm
HE2486

v
39.2 31

50

o 5t
# 1

HB4-2P



AUTO
Stronq A STRONGHOLD BY PRECISION AND POWER.

HC
MR SR B4 T

Soft jaw for hydraulic power chuck

1. HESREEREM -
2. CNCERB4Y.M -

—

Emn=E

HESerration

~

.

|

]

1

i
c13

Pitch 1.5

h
mgj
<]

c6 _C7 __ C8 | - cz
_ | | ! Pitch 3.0 RO.1
b P

35 | LI |

HEEN O i

Py o =

c-10 N NEa2 C4
_Gi.., \\_ HeqSerration
BEfi] : mm
R 3

HCO4 52 23 23 10 5 10 14 28 14 9 13 M8 3  15x60° N-204 0.45
HCO5 62 25 3 10 5 10 14 38 14 9 20 M8 3  1.5x60° N-205, V-205 0.7
HCO6 73 31 3 12 5 15 20 38 17 11 24 M0 14 15x60°  N-206, NB-306, NL-06, V-206 1.5
HCO8 95 35 37 14 5 24 25 46 19 13 22 MI2 16 15x60°  N-208, NB-208, NL-08,V-208 2.4
HC10 110 40 42 16 5 30 30 50 19 13 27 Mi2 18 15x60° N-210,NB-210,NL-10,V-210 3.7
HC12 130 50 50 21 5 40 30 60 25 17 30 M16 23  1.5x60° N-212, NB-212 6.5
HC15 165 62 62 22 8 37 43 8 32 21 37 M2 — 15x60° N-215 N-218 NB-215,NB-218 125
HCO8-1 95 3 37 12 5 24 20 51 17 11 22 M0 16  1.5x60° NHT-208 2.4
HC121 130 50 50 18 5 40 30 60 23 15 30 Mi4 23  15x60° V-212, V-212R 6.6
HC15-1 165 62 62 255 6 37 43 8 32 21 37 M20 — 15x60° V-215,V-218,V-215R, V-218R 125
HC24-1 180 64 70 25 9 40 60 8 32 21 45 M20 — 3o0xe00 22 NEELUEAL V224 g5
HC32-1 210 74 90 25 9 40 8 90 32 21 65 M2 —  3.0x60° V-232R 29.2
HC152 156 64 70 26 9 34 50 72 32 21 45 M20 — 3.0x60°  V-215(P3.0).V-218(P3.0) 13.4

BhiT\F R A T

Soft jaw for draw down power chuck

B8] : mm
B 3
R ~F
DR-06 70 35 34 10 6 43 — 10 23 15.5 21 M14 2.5 DR-06 1.5 Fig-1
DR-08 84 40 445 16 7 53 26 12 20 13.5 29 M12 3.5 DR-08 2.7 Fig-2
DR-10 100 50 49.5 18 7 62 32 15 23 15.5 32 M14 3.5 DR-10 4.6 Fig-2
DR-12 120 60 54.5 20 7 78 36 17 26 17.5 36 M16 3.5 DR-12 7.5 Fig-2
Fig-1 Fig-2
T i
- NI
==& e _f_@__ )
| | l I 1
I C-1
T4 c-9
) o) | ['c'-'t'o !.L_ c2
T i T T
g S “ﬁj - |
4= Q
M ! | \‘ = g
0‘31% Ima  NRP: lg'—;' c12 E*Ef o
ce €7
(nas] 2 — ~
=] N BX
BiEI\GEEERHEEM
Soft jaw for ball swing lock chuck
BE{i7 : mm
B 5
R~
BL-12 108 70 70 571 3.3 19 44 .45 25 17 59 M16 BL-12 10.6
o1
c-2
6 CT F _
[
]
& ‘ &
uy
B i 6!
(‘E:;’ :__.J_ L1z l_ c-4 _|
V—3 = S =
m]
REBINEFAREEZEHREM
Soft jaws for pneumatic power chuck -
8\ mm
B 3
R ~F
PB600 205 60 60 25.5 6 25 38 104 32 21 44 M20 55 PB-ES600 13.5
PB850 320 80 80 30 7 35 60 165 38 26 53 M24 110.5 PB-ES850 40.2
Hee% Serration
SO —— -
\SEZA\SP/ANSE, Tt 322
c-1 -
!-G-S. C7 T c-8 ! - cz .
T | sol Koo >
- al BN |
@ 1
| I 1
| 1] |

|k\ | 31 =
" on | T M

A
&8 | A #Semation




AUTO

A
strona@ A STRONGHOLD BY PRECISION AND POWER.

HC40-1 H)

ABIhEHMERIBEM HH EE 5L BREE T

Soft jaw for hydraulic power chuck Hard jaw for hydraulic power chuck
&8 Weight 1. S EE SR EEFRRET -
17 kg / PC 2. CNCERFIEM -
— e 270 "
EmmEE , 145
| 76.2 ! 76.2 , 8|4
| | | | Fig-2
g 1 f | © . L . :“_:)
oo N
O LT T | @
726 _j___] 11—‘—1" i"" = =Na— @ @
o3 © 19.03 | 24 T 30 L
H-1
H-6 H-8 H-2
‘ : ——
I —— —
H J 40'1 AT T i
— T g
ARBPEHERFEERIEM L ITT RS
) v ! i
; . \ g H-10 Y H-4
Hard jaw for hydraulic power chuck o\ T, 2 -\ IR
= EE£ Weight
E 11 kg / PC

B8l : mm

HJO5 53 23 275 10 4 305 14 225 135 85 10 M8 6 15x60°  Fig-2 N-204, N-205,V-205 0.4

293 HJ06 67 31 3 12 5 395 20 275 17 11 12 M10 11 15x60°  Fig-2 N-206, NL-06, V-206 1.0

762 38.1 85 HJ08 86 35 51 14 5 31 25 18 19 13 12 Mi2 12 15x60°  Fig-1 N-208, NL-08,V-208 1.9

T : HJ10 995 40 54 16 5 43 30 17 19 13 13 Mi2 15 15x60°  Fig-1 N-210,NL-10,V-210 2.9

9 HJ12 103 50 52 21 4 625 30 405 25 17 17 M6 30 15x60°  Fig-2 N-212 35

1 . . - HJ12-1 103 50 52 18 5 625 30 405 22 15 17 M14 30 15x60°  Fig-2 v-212 3.6
3 o™

‘ Bn - HJ15 149 62 8 22 8 63 43 34 32 21 20 M20 40 15x60°  Fig-1  N-215 N-218 96

¢ ] LTl HJ151 149 62 86 255 5 63 43 34 32 21 20 M20 40 15x60°  Fig-1  V-215 V-218 95

' ’ e = — HJ24-1 1595 80 90 25 9 1045 50 55 32 21 40 M20 55 3.0x60° Fig2 \raar N22hN232 443

p26 || | I \ ~ 30 : : X 192 v.221, V-224, V-232 :

%39 L1 ]19.08 \m2e =l |30 ] PB600 140 60 75 255 6 50.35 38 49.86 31 21 19 M20 21.1 3/32'x90°  Fig-1 PB-ES600 7.2

140 PB850 220 75 85 30 65 130 62 90 38 26 30 M25 35 3/32'x90°  Fig-2 PB-ES850 20.2




- AUTO
strona@ A STRONGHOLD BY PRECISION AND POWER.

ADAPTER
T

Mounting adapter on short taper
spindle noses DIN55026

- EENREREEE T B HEAFSDINS5026 -

TYPE1 EEfiT : mm
ERnAE E
N-2056A4 A4 110 63513 8255 311 15 N-205
NT-205A4 A4 110 63513 8255 411 15 NT-205
N-206A5 A5 140 82563 10478  6-11 15 N-206, NB-306, NL-06, V-206, DR-06
E NT-206A5 A5 140 82563 10478 611 15 NT-206, VT-206
. — NIT-206A5 A5 140 82563 10478 411 15 NIT-206
§h-=- 1 N-208A6 A6 170 106375 13335  6-13 17 N-208, NB-208, NL-08, V-208, DR-08
R NT-208A6 A6 170 106375 13335 6-13 17 NT-208, VT-208
NIT-208A6 A6 170 106375 13335  4-13 17 NIT-208
& s s NHT-208A6 A6 170 106.375  133.35  6-13 17 NHT-208
N-210A8 A8 220 139719 17145 617 18 N e A g N RI0 e 19, 210
- NT-210A8 A8 220  139.719 17145 617 18 NT-210, NT-212, VT-210, VT-212
J4H | NIT-210A8 A8 220  139.719 17145 417 18 NIT-210, NIT-212, VIT-212
S N-215A11 A11 300 196869 235 621 22 N N Y 2iaR 218
NT-215A11 A11 300 196869 235  6-21 22 NT-215, VT-215, NT-218
NIT-215A11 A11 300  196.869 235 421 22 NIT-215, VIT-218, NIT-218
V-224A15 A15 380 285775 3302 625 27 VP TORVIRS TRV g
VIT-224A15 A15 380 285775 3302 825 27 VIT-224R, VIT-232R
N-224A20 A20 520 412775 4636 625 25 N-224, N-232, V-240, V-250, NIT-224
TYPE2 E5fi7 : mm
R
-E. N-206A4 A4 140 63513 8255 11 10478 M10 20 N-208, NT-206, NIT-206, NL-06, V-206
- ;t;k: — | N-208A5 A5 170 82563 10478 11 133.35 M12 23 N 08, ML as. Voood, Y oea®
?;’—_l..! ¥ N-210A6 A6 220 106375 133.35 13 17145 M16 25 im0 Vimio v o1s VT o s 212, NB 210, ND-2 1
" ol o N-215A8 A8 300 139.719 17145 17 235 M20 33 Va e s v o e it 218
s [|ls N-220A11  A11 380 196.869 235 21 3302 M24 41 N-220, VIT-232, NB-215, NB-218, VIT-224, V-232
s N-224A11  A11 520 196.869 235 21 4636 M24 45 N-224, N-232, V-240, V-250, NIT-224
Hq N-224A15 A15 520 285775 330.2 25 4636 M24 42 VIToao s, Mot hos, Ve 250
. V-224A8 A8 380 139.719 17145 17 3302 M24 33 V-221, V-224, N-220, NB-215
V-224A11  A11 380 196.869 235 21 3302 M24 27 V-221, V-224
VE-263A20 A20 720 412775 4636 27 647.6 M30 50 VE-263, VE-279
E TYPE3 B8{i7 : mm
S }TL_[ o
A = V-205A4 A4 80 63513 8255 11 100 6-M8 120 265 V-205
" zi N-205A5 A5 110 82563 10478 11 8255 M10 128 32 N-205, NT-205
gy 47 ¢ 3 N-206A6 A6 140 106375 133.35 13 10478 M10 165 35 N-208, NT- e SR ¢ V-206:
. N-208A8 A8 170 139.719 171.45 17 133.35 M12 208 40 208 N30, V1268, KTH-208 00
® N-212A11  A11 220 196.869 235 21 171.45 M16 278 50 NZ0NI210 NIT-210 NL-10, N-212 NT-212, NIT-212
,_‘—j;r_ N-215A15 A15 300 285.775 3302 25 235 M20 378 57 Va1 e YA A N3
-

V-224A20  A20 380 412.775 463.6 26 330.2 M24 520 58 N-220, V-221R, V-224R, V-232R

T-NUTS
THI 158

Suitable for power chuck
- JE R S 5 B o

Fig. 1 Fig. 2 Fig. 3
H . H . H
/ & i 7\ 42+ J/
i — ' RN
T i \
B O)- 50 &
[ I I |
E F E F B
L A J B A D
M
o g
T 10 |
T I A ‘ ! o ! i
| . | N
e o } et o
KL KoL
BT : mm
B 5
R ~f
N-205 26 14.5 15 10 14 6 55 M8 5 2 — — 1 N-204, N-205
N-206 36 175 185 12 20 82 75 M10 8 25 - - 1 N-206, NB-306, NL-06
N-208 46.5 20.5 20.5 14 25 10.5 85 M12 12 4 - - 1 N-208, NB-208, NL-08
N-210 51 22.5 21.5 16 30 11 85 M12 11 3 = = 1 N-210, NB-210, NL-10
N-212 555 295 27.8 21 30 12 115 Mie 13 45 - - 1 N-212, NB212
N-215 80 33.5 45.5 24 43 17 16.5 M20 11 5 8 22 2 N-215, N-218
V-206 36.5 17.5 225 12 20 7.5 7.5 M10 6 3 — — 1 V-206, NHT-208
V-208 48 205 255 14 25 11 95 Mi2 8 4 - - 1 V-208
V-210 55 225 255 16 30 11 95  M12 4 - - 1 V-210
V-212 55.5 26.5 33.5 18 30 11.5 135 M14 11 5 — — 1 V-212
V-215 42 35 39.2 25.5 - - 19 M20 - 25 — — 3 V-215, V-218
V-21526 M20 42 35 41.2 26 — — 19 M20 — 25 — — 3 V-215P3.0
V-224 46 375 45 25 — — 19 M20 — 26.5 — — 3 N-220, N-224, V-221, V-224, V-232



AUTO

A
stronq A STRONGHOLD BY PRECISION AND POWER.

it & BB X B
High speed and light weight type strong

finger chuck for aluminum wheel

1.F52RIRmEREFRASRSENMME - FEBIEELREE(L
RIFEERE - LIESEEE KA -
2. S UEERTENFTEDIN, BS, I1SO, ASA, B5-9, AR 7 X ifZ# -

M50xP1.5
ol 2 1
8 c g 88
-
= 2 g g
Rt 8 5
T
-,l
-1
8
81 : mm
& 3
R B
F52A8 12"-18" 521 A2-8 33.9(3456) 32.4(3303) 3.3(33.6) 2800(18"2200) 98 MS125C35

e i 2] 5€ B
High speed and light weight type strong

finger chuck for aluminum wheel

1.FO1 SRR R EFRAERSESHMME - FRFEBELREEL
RIFEEE - LIESEEE R -
2. BEEUHEERELFSDIN, BS, I1SO, ASA, B5-9, ABY 7 FifitE# o

7 356
717145

Max. 750

Max, 90
Min. 55 151

B : mm

EiTa
R

F61A8 13"-22" 610 A2-8 33.9(3456) 32.4(3303) 3.3(33.6) 1500 145 MS125C35



AUTO
Stranq A STRONGHOLD BY PRECISION AND POWER.

i i ] P B
High speed and light weight type strong

finger chuck for aluminum wheel

1. Fo6 BRI RERBERERASASENME > FIEBIESREFELLR
MERE > NIEgEBEREA T -
2. RS EIERENLFEDIN, BS, ISO, ASA, B5-9, ABYZ T HhiZ# -

M50xP 1.5

@242

- 355
P171.45
#135.719
LA fes
|| @78 »
Ig Bl T |
11 |
| |

Max. 80
Min. 55 151

81 : mm

F66A8 19"-24" 660 A2-8 33.9(3456) 32.4(3303) 3.3(33.6) 1500 182 MS125C35

NL-A
= MRz Bk (SEER)

3-jaw long stroke through-hole power chuck
(adapter included)

. HAEE > hERBRTRE -

. EHESENME  BIEERICERLEBRRE -
BT ABE iR EE WA TH -
CREFABEDENRIIKRE 1% - TEEER -

A W N —

HEE5 Serration Pitch 1.5

Nx X _~
1 \
[ ' &
~ f‘..; o]
S O
o = >
8 8 5 @
o 3
[ —T = ]
<ol ul=z U _
T e B & p ST
] »
| \o '
Am 15° | 15°
E
J [ B
B8fi7 : mm
NL-06A5 @40 15 24 2243 2651 285 3600 148 0065 M1246 HJO6 HCO6  (035-0168
NL-08A6 @48 20 32 3701 4190 275 3000 28 0.21 M1552 HJO8  HCO08  @50-0215
NL-10A8 @66 25 375 4853 4486 295 2400 435 044  M1875 HJ0  HC10  @55-0256

B
R~
NL-O6A5 168 96 140 20 15 82.563 116 104.78 16 6-M10 40 5 49 16.75 775 26 11 2 12 19 31 M55x2 3xM6 60 37 73 10

NL-08A6 215 112 170 25 17 106.375 150 133.35 18 6-M12 48 5 60.5 20.75 11.75 31.5 11.5 2 14 20.5 35 M60x2 3xM6 66 38 95 10
NL-10A8 256 125 220 30 18 139.719 190 171.45 24 6-M16 66 5 74.5 24751125 265 1.5 2 16 25 40 M85x2 3xM8 94 43 110125



AUTO

Sirong

A STRONGHOLD BY PRECISION AND POWER.

= R KER
3-jaw ball swing lock chuck

1. A 5| AT 3eH5 - Mg RRF - AOAMERENE - SO SN IT¥E
BRI ICERRIEME RS £ - ISR ESRFIRE -

2. IRSMERFBER TS - ERBERETUREBINRIMERIGERA
R -

3. I kFHENE R FERUTERBERFAEGHEREMNENSREANRE
REHE - SNTYREFEOTERNENTNFE(EATREFE20°
HER) ©

4. MeEnl R ER) - MEE T KRERAMIERIES) - MAERESE(ER
RATTLAES) -

5. AEBENNEY  FAREREN—RRETFE  w#EELEBME
% BRIREHEEE (lock arm)EMARBHEE - AIBLEEEREA -

70.1
291 569
=
2w
Max,34 32
Min 175 | =
35 | 18 L
[ B 1
e —
i P ﬁ—r;.]_ k-
. _ |5 ST S
M2z / =
rzs_
=—
i
M1
i3

81 : mm

BL-12 175 12.4  40.7(4152)  122(12440) 2.8(28.5) 2800 65 0.18  MS150C BL-12 063-0240 / @127-0305

=MEHTLFKEAE

3-jaw draw down power chuck

1. BB REEERKIFRRBENDEN - BRAREBA LRGN
MI -

2. BUXREGSTHRMEREERL - RERE - BRENH -

3. EHAEGSE  TRBER  IRAEERFNEERBE -

4. EENBEERORBEHRETHS LZHEYE - BERREBENN
ITHEE -

DA
%c
Fw2
PW1

BE{i] : mm
R %
DR-06 10 7.2 15(1530) 25(2549) 2.1(21.4) 3500 15 0.05 MS105C DR-06 J35-0165
DR-08 10 7.2 25(2549)  45(4589) 2.5(25.5) 3000 25 0.14 MS125C DR-08 ©40-0210
DR-10 16 11.6 35(3569) 60(6118) 3.3(34) 2500 46 0.374 MS125C DR-10 050-0254
DR-10D 16 11.6 35(3569) 60(6118) 3.3(34) 2500 46.1 0.376 MS125C DR-10 B54-0254
DR-12 16 11.6 44(4487)  71(7240) 3(30.6) 2000 76 0.88 MS150C DR-12 050-0304

R 1

DR-06
DR-08
DR-10
DR-10D
DR-12

165
210
254
254
304

85 140
90 170
110 220
110 220
125 220

104.78 16 6xM10
133.35 15 6xM12
171.45 23 6xM16
171.45 23 6xM16
171.45 23 6xM16

58

54.4 33

713 67.7 38

878 82 48

102.

5
5
5 854 796 48
5
5

9 971 47

M16x2.0
M20x2.5
M24x3.0
M24x3.0
M27x3.0

37 42
50 60
50 60
52 60

68.6 52.6
725 56.5

20 Meéx12
25 M8x16
30 M8x16
30 M12x18
35 M12x18



AUTO

A
strona@ A STRONGHOLD BY PRECISION AND POWER.

P165
PENTES TR

Floating plate center chuck
- BRAREERERIME—REMI

! [ Max 77

H___i____|' Min 42

W 180

TMIHBE
Possible processing range

81 : mm

B
A - N .

P165 35 1.0(10) 6000 18.5 0.02 MS125C35

ZMESEPZHEREE (FERR)

3-jaw extra high speed through-hole
power chuck(adapter included)

1. REEEZETE10,000r.p.m. °

2. HNEYFEEE{ZMRASA B5.9 ABY T ihiE =M sRst -

S.HNEKERASHRESEMME > e BIEINEREEL NH
EERE > LIRS EEEE NI -

GRIPPING CHARACTERISTIC GRAPH

e
8000
~—
0 N
T 6000
=1 AN
2 N
g
2 4000
=
Q
2000
0
0 2000 4000 5000 8000 10000
Rotation speed(r.p.m)
88fi7 : mm
B
R
HN-06 36 12 5.5 30(3050) 79.4(8100) 2.9(30) 10000 11.5 0.035 HG-1336 Model-A @14-051



SIS SISISITSISS
e e
e
e A
e

AUTO
Stronq A STRONGHOLD BY PRECISION AND POWER.

SB-ES
REIVE) KA
Pneumatic power chuck

1. BERARERAEEE
2. BRANMERFFZAREREEA SR BILEE
3. BRERFHREAMITE

PB-ES
REIVE) S FEER
Pneumatic power chuck

1. EBRANEREZRBRIEEA SR EBIGE -
2. BRERFFFMEAMITE -

3. B BB A& A -

4. BRFITERA -

HE ¢ Serration Pitch 3/32"x30° . a
B B ANE S ; T
M Pressure control > R
|
t ]
=) 2By
6-M6 B1 T #E1 Anti-rotation pin T — 4?F
K X1 LT
wiEEn o hex #f:4 Serration Pitch 1/16"x90°  |_R .
Double thread bolt =] Q Il a = '
' o 1 M “ A . ®
= QI:- S| @ ‘
o = e i Mg D b3 <olzlzI || | o i
- S e SR 8 111\ w11
r 1 =) P N
d el z | \ :
I - I ~
g ] b | L & = = 1 - ) X
<| O Il = [ I | 1 e — - S
Se83 9 Ir & i g
sl < & | \/ 1
g I — L —-——
— = S
| J
= « \ s o
| E | i' | Enwams R E )
T 8 E p £ WIFITIE A Pressure control
[ 5 Clamping stroke control {0.D. clamping only)
M L B2 | FEFE ;
€ S Safety valve
FP R
1 B >—
LS

B{i7 : mm &7 : mm
350-115 115 15 10 5 486 2-10 88 2200 104 1.82 13.5 SB350 SB350 ©@30-0360 600-275 275 25.4 16.9 8.5 954 2-10 180 1100 360 20.6 39.5 PB600 PB600 ©135-0275
*2 (5 FA B S 6barky 850-375 375 25.4 13.4 12 1342 2-10 250 750 980 110 68 PB850 PB850 ©115-@375
*E & B S16bark
B B
R~ R

12 33 3 21 G1/4" 44 92 M16 315 12 61 20 15 600-275 605280282450 79/38 20 37 585508 25 12-M12 275 8 204.6/179.2 14 26 3 25.5 G1/2 57 116.5 M20 535 508 35 508 35 15 60
850-375 850352354700 140/47 2544.5830 745 30 12-M16 375 8 268/242.6 16 33 4 30 G1/275 182 M24 775 745 35 745 35 15 60

350-115 372 360 190 191.5 92 235 64/28 21 33.5 358 290.5 39.5 6-M12 115 6.5 100/85



I

MEMO




